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Scanned by CamScanner



& Exampapers 247




& Exampapers 247

General studies 1 . SExampapersM?‘j

ABC(C)-7/20 C-2
1. Jizya was abolished by the Mughal ruler 6. The Asiatic Society of Bengal was foundeq
(A) Babur by
(B) Humayun . (A) Ram Mohan Roy
_A€) Akbar "j" AB) William Jones

£
(D) Aurangzeb ’

2. The Tebhaga Movement of 1946 is
associated with which of the following states of
India?

(A) Andhra Pradesh
AB) West Bengal
(C) Bihar

(D) Odisha

3. The Persian ruler who beseiged Qandahar
in Jahangir’s reign was
(A) Shah Muhammad
(B) Shah Parvez
(C) Shah Abbas
(D) Shah Raza

4. The founder of the Lodi dynasty was
}A) Bahlul Lodi
(B) Sikandar Lodi
(C) Ibrahim Lodi
(D) Daulat Khan Lodi

5. The Peshwa accepted the Subsidiary
Alliance with the British by

(A) Treaty of Purandhar
Treaty of Bassein

(C) Treaty of Salbai

(D) Treaty of Surji Arjangaon

(C) W. W, Hunter
(D) William Bentinck

7. King Jaypala, who faced Sultan Mahmud’s
invasion belonged to the

(A) Chalukya dynasty
B Hindushahi dynasty

(C) Pandya dynasty

(D) None of the above

8. The river Chenab was known in the Vedic
period by the name of

(A) Askini

(éﬂ') Purushni
(C) Vitasta ’
(D) Shutudri

9. The Mughals imported fruits from
JA) Samarkand
(B) Arabia
(C) Kabul
(D) Portugal

10. When and by whom were the Ashokan
Inscriptions deciphered for the first time?

(A) 1787 - John Tower

(B) 1810 - Harry Smith

(C) 1825 - Charles Metcalfe
9) 1837 — James Prinsep
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1L Jallianwala Bagh Massacre took place in
the city of

AAA) Amritsar
(B) Lahore
(©) Bombay
(D) Hyderabad

12. The popular name of Muizuddin
Muhammad Bin Sam was

(A) Sultan Mahmud

BT Muhammad Ghori}'
(C) Timur

(D) None of the above

13. The author of the book “The Indian war of
Independence 1857 was

A7 Sir Syed Ahmed Khan
(B) V.D. Savarkar
(C) R. S. Sharma
(D) R.C.Majumdar

14. Who founded the Indian Independence
League (1942) in Tokyo?

(A) Taraknath Das
(B) Raja Mahendra Pratap
(C) Subhas Chandra Bose

/{D')’*Rash Bihari Bose

15. The Somnath Temple of Gujarat was
destroyed by Sultan Mahmud in

(A) 1015 AD
(B) 1020 AD

1025 AD
(D) 1027 AD

ABC(C)-7/20

16. Kalibangan is located at
(A) Gujarat
_(B) Rajasthan
(C) Himachal Pradesh
(D) Punjab

17. Silver ‘Tanka’ and Copper ‘Jital' were
introduced by
(A) Qutubuddin Aibek

(B) Raziya Sultana

/(,C) Iltutmish
(D) Balban

18. Vedic literature is also known as
_{A) Shruti
(B) Smriti
(C) Sanhita

(D) Vedanga IS

19. Which of the following reform movements
was the first to be started in the 19th Century?

(A) Prarthana Samaj
(B) Arya Samaj
<1C) Brahmo Samaj
(D) Rama Krishna Mission

20. Which of the following works refer to the
History of Sind and it’s conquest by the Muslim?

(A) Taj-ul-Maathir
,(Br Chach Namah
(C) Lubab-ul-Abab
(D) Kitab-i-Tahgiq

Please Turn Over
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21. The Constituent Assembly wassetup under
the
(A) Cripps Mission
(B) Wavell Plan
_AC) Cabinet Mission Plan
(D) Nehru Report

22. Which Mughal Emperor was a patron of
Hindustani music and was popularly known as
Rangila?

(A) Bahadur Shah
(B) Bahadur Shah II
_AC€) Muhammad Shah

(D) Ahmed Shah

23. The Cripps Mission visited India in
(A) 1927
(B) 1939

((C) 1942

(D) 1946

24. Who of the following became a member of
the Din-i-Ilahi?
(A) Todar Mal
(B) Raja Birbal
(C) Raja Man Singh
(D) Tansen

25. Ghazi Malik was the actual name of
) Ghiyas uddin Tughlaq
(B) Muhammad bin Tughlaq
(C) Firuz Shah Tughlaq
(D) None of the above

C4

26. The river most mentioned in the Rigvedais
(A) Sindhu
(B) Shutudri

—~(C') Saraswali
(D) Gandaki

-

27. Who was the founder of the All India
Communist Party (AICP) in 19247

(A) Satyabhakta
(B) C.R. Das

/(e)' M. N. Roy

(D) N.D.Majumdar

28. The leaders of the Home Rule Movement
borrowed the term ‘Home Rule’ from a similar
movement in

(QA) Ireland
(B) Scotland
(C) US.A.
(D) Canada

3%%

- 29. Whichof'the followingiscorrectly matched?
(A) RabindraNath Tagore— ‘Nil Darpan’
(B) Dadabhai Naoroji — ‘Indian Unrest’
(C) Dinabandhu Mitra — ‘Gora’

) Ramesh Chandra Dutt — ‘Economic
History of India’

30. The members of Khan Abdul Ghaffar
Khan's Red Shirt Movement were known as

(A) Khidmatgars
(B) Insan-i-Khidmatgar
AC) Khuda-i-Khidmatgar

(D) Angels of Freedom
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M, Aun_mgreh sent Mukarrab Khan against
_AAY Shahji Bhonsle
(B) Shivaji
(C) Sambhaji
(D) Shahu

32. Which of the following facts about the
Taj Mahal is incorrect?

(A) Itis a magnificient Mausoleum
(B) It was built by Shah Jahan
(€) Itis situated outside the Agra Fort

(D) The names of artisans who built are
engraved on it

33. Twomajorcropsintroduced in Indiaduring
the Mughal period were

(A) Millet and Groundnut
(B) Potato and Mustard

AC) Tobacco and Maize
(D) Indigo and Maize

34. The Russian merchant traveller

Nikitin visited South India in
(Ay"14th Century
(B) 15th Century
(C) 16th Century
(D) None of the above

35. Arrange the following events in a correct
sequence of the Indian National Movement—

(i) Foundation of Indian National
. Congress

(ii) Simon Commission
(iii) Home Rule Movement
(iv) Cabinet Mission

) (), (i), (i), (iv)
(B) (i), (i), (iv), (ii)
(©) (), Gi), (iv), (iii)
(D) (), (iv), (i), (i)

._.ﬁ@{fj‘% '

ABC(C)-7/20

36. The learned lady whoissaidtohave debated
with the famous law-giver Yajnavalkya was

(A) Gargi

/(JW Maitreyl
(C) Kamala
(D) Kalindi

37. Who constructed the *Grand Trunk Road’?
(A) Akbar
413’) Sher Shah Suri
(C) Ashoka
(D) Samudra Gupta

38. Which of the following statements about
Henry Louis Vivian Derozio is incorrect?

(A) He was born in Calcutta in 1809.

) He taught at the Sanskrit College
between 1826-1830.

(C) He died of Cholera at the age of 22.

(D) His followers were known as
Derozians.

39. Who was the founder of the Secret Society
Abhinava Bharat?

(A) Naren Bhattacharji

(B) Jatin Mukherjee

(C) Damodar Chapekar
/(D) Ganesh Savarkar

40. Which of the following is the biggest
Harappan civilization site?

(A) Ropar
(B) Lothal
(C) Kalibangan
D) Rakhigarhi
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41. The Persian poet Firdausi who composed
‘Shah Namah® wy

46. Kamban's Ramayana in Tamil was written,
18 associated with the court of

during the reign of
JA) Sultan Mahmud (A) Chalukya
(B) Muhammad Ghori (B) Pallavas
(C) Shah Tahmasp (C) Cholas
(D) None of the above

/[B‘f Kakatiyas

42, Ranj Gaidinliu

+ a rebel leader against (he 47. Who was the first [ndiap to become the
British was from Commander-in-Chief of the Indian Army?
(A) Tripura (A) Subroto Mukherjee
(B) Assam ) K. M. Cariappa
A7 Nagaland (C) E.J. Manck.shaw 989
’LD) Manipur (D) R.D. Katari =

. _ 48. Which of the following systems were the
43. Khilafat Movement was organised by backbones of the Vijaynagar administration?
(A) Jinnah

(A) Nitinirdesha and Dandniti

(B) Karyapalika and Nayankara
AC) Nayankara and Ayagar

(D) Dandniti and Spy system

(B) Maulana Abuyl Kalam Azad
(&Y Ali Brothers

(D) Agha Khan

44. What is the meanin

g of the word ‘Sangam’ 49. The Non-cooperation Movement was called
in the Sangam Age? off due to
(A) Royal Court (A) Jallianwala Bagh Massacre
~(B) Assembly of Poets _B) Chaurichaura Incident
(C) Assembly of religious teachers (C) Poona Pact
(D) Meeting of rivers

(D) Gandhi-Irwin Pact

45. The treaty of Serin

50. Gandhiji’s ‘The story of my experiments
2apatam is associated with truth’ was originally written in Gujrati. Who
with the end of translated it into English?
(A) Second Anglo - Maratha war (A) Maganlal Gandhi }
(B) Third Anglo - Maratha war ABY Mahadev Desai
M7 Third Anglo - Mysore war (C) Pyarelalji
(D) Fourth Anglo - Mysore war

(D) Sushila Nayyar
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8L The Nayanar grou
were devotees of Lo

(A) Vishnn
() Shiva

(C) Krishna
(1) Buddha

: 52, Ramchandra Yadav, who faced Alauddin's
invasion was the rler of

(A) Devgini
iy pfff) Malwa

(C) Ujjain

(D) Telengana

53, The word *Veda', derived from ‘Vid' refers
1o

ﬁ() Knowledge
(B) Energy
(C) Truth

(D) Karma

584, The Kuka Movement was started in the mid
nincteenth century in

AA) Western Punjab
(B) Maharastra
(C) Bengal

(D) Madhya Pradesh

55, Vande Mataram was {irst sung at the session
of the Indian National Congress in

(A) 1886
(B) 1892
~C) 1896
(D) 1904

Porsaln In North Indla

Cimr'cr*ﬂ’f(

apare?”

C" \_,/‘\\

ABC(C)-7/20

86, The Indian who was involved in the
excavations of Harppa and Mohenjodaro is

(A) S. D, Rathore
(1) K. K. Menon

/LC] R, D. Bunerjee
(D) R, D, Sharma

57. Apartfromthe QuitIndiaMovement, W:hich
started on 9th August 1942, what other sensational
activity of the freedom fighters took place on that
date in 19257

(A) Salt Satyagraha
(B) Boycott of Simon Commission
(C) Champaran Satyagraha

/(D) Kakori mail train robbery

58. Whoamong the following was notinvolved
with the foundation of the Anushilan Samiti of
Calcutta in 19027

*&) Promotha Mitter

M5 Abani Mukherjee

+(C) Barindra Kumar Ghosh
» (D) Jotindra Nath Banerjee

v o

59. Montague Chelmesford reforms which
formedthe base of Government of India Act, 1919,
introduced which of the following in India?

(A) Self Governance

_(BY Dyarchy
(C) Indian Administrative Service
(D) Indian Police Service

60. The Ghadar Party was founded (November
1913) at San Francisco, USA by

(A) Muadam Bhikaji Cama
Lala Har Dayal
(C) Shyamji Krishna Verma

(D) Both (A) and (B)

Please Turn Over
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ar city became the nodal
ng from north 1o Ri!llll'l
(iuplupcrimls?

61. Which particular ¢
point for trade routes unni :
and castto westin the pre-Guptin

(A) Taxila
(B) Mathura
() Ujjain
(D) Vidisa

62, Rulcrsof\\'hichtlynasty|1-.umniscd.lainism?
(A) Chalukya
(B) Pallava
/{Cﬁ/ Rashtrakuta
(D) Chauhan

63. Which European power was the last to
reach India?
(A) Portuguese
(B) The Dutch
(C) British
D) French

64. Which Mughal Emperor transferred the
capital from Agra to Delhi?

(A) Jahangir

(B) Shah Jahan
(C) Aurangzeb
(D) Bahadur Shah

65. Vasco da Gama, the sailor was a
AA) Portuguese
(B) American
(C) German
(D) lalian

C-8

\O -
" ot
T'he Mughal Prince who was well verseq >

6 d Sanskrit was

Arabic, Persian an
(A) Prince Akbar
(B) Prince Salim
(C) Prince Sulaiman Shukoh

})& Prince Dara Shukoh

67. Which of the following organisations wag
not established by B. R. Ambedkar?
(A) Zero club
(B) Depressed classes Institute

Samaj Samata Sangh

})—{eoplcs Education Society

68. The administrative consequence of the
Revolt of 1857 was the transfer of power from
) East India Company to the British
Crown.
(B) British Crown to the East India
Company.
(C) East India Company to the Governor
General.

(D) British Crown to the Board of
Directors.

69. Who, of the following, opined that the
original homeland of the Aryans was the Artic
region?

) Bal Gangadhar Tilak
(B) Max Muller
(C) Dayanand Saraswati
(D) A.C.Das

70. The revolt of the Khasis against the British
was led by

(A) Surendra Rai
(B) Titu Mir
(C) Birsa Munda

/(D) Utirot Sing

4

.
i e Dl ittt s 1 i W

—d
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t 311 Permission to the British to establish their
rading centre at Surat was given by the Mughal
Emperor

(A) Babur
(B) Humayun
(C) Akbar

(P7 Jahangir

1

72. ‘Diwan-i-Khairat’, a Ministry of Charity
was organised by
(A) Alauddin
(B) Ghiyas uddin
/Klf Firuz Shah
(D) None of the above

73. Sant Jnaneshwar was the author of
(A) Amrutanubhay
(B) Rukmini Swayamvar
((CJ Dasbodha
(D) Vivek sindhu

288
7 )

74. The ‘Young India’ was edited by
(A) Jawaharlal Nehru
(B) Mahadev Desai
}G) Mahatma Gandhi
(D) Acharya Narendra Dev

75. Who is the only woman historian to write a
historical account of the Mughal period?

Gulbadan Begum
(B) Noorjahan
(C) Jahanara Begum
(D) Zebun-nissa Begum

C-9

/

ABC(C)-7/20
76. Whofaced defeatinthe Battle of Chandawar
in 1194 AD?
(A) Bhimall .
Jaichand

(C) Lakshman Sena
(D) Muhammad Ghori

77. Who among the following was the' first
leader to organise Labour Movement in India?

(A) B.P. Wadia
(B) Lala Lajpat Rai
_€) N.M. Lokhandy

(D) N. G. Ranga

78. Universitiesin the Presidency townsin India
were established in the year
) 1857
(B) 1858
(C) 1900
(D) 1909

79. The second Muslim President of the Indian
National Congress was

,K)- Ajmal Khan
4? (B) M. A. Jinnah

(C) Abul Kalam Azad
&Dﬂ‘i Rahimtullah M. Sayani

80. Who was the author of ‘Tabagat-i-Nasiri'?
(A) Ibn Batuta

/('BT- Minhaj-us-Siraj :

(C) Isami
(D) Ziauddin Barani

Please Turn Over
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Hindu kin

81. Who was the on of Sind?

Muhammad bin Qasim’s invas
{A) Dahir
(B) Hala
(C) Harsha
(D) Ananda Pala

82. Mahatma Gandhi launched the Civil
Disobedience Movement in 1930 from

A7 Sabarmati Ashram
(B) Ahmedabad

(C) Porbandar

(D) Dandi

83. Which among the following is not a literary
work of Mahatma Gandhi?

(A) ‘Hind Swaraj’
(B) ‘Indian Opinion’

)?J ‘Yugantar’
(D) ‘Young India’

84. Who was the founder of the Prarthana
Samaj?
(A) Raja Ram Mohan Roy
(B) Dayanand Saraswati
) Atmaram Pandurang
(D) Gopal Krishna Gokhale

85. The Revolt of 1857 did not acquire much

g at the time of

G, \r
Lod—
ot
C-10

H6.

incorrec ’
ape of Buddha?

(A

eteriorated.

marriages.

among the ruling classed.
(D) Education was denied to women.

87. Inwhich ycar was Lala Lajpa_t Rai deported
to Mandalay fororganising the agrarian movement

in Punjab?

(A) 1905

9” 1907 23 b
(C) 1909 s
(D) 1911

88. The Dilwara Temples at Mount Abu were
constructed during the rule of

(A) Chalukyas
Solankis

(C) Kalachuris

(D) None of the above

89. What was the ‘Araghatta’?

(A) A machine to break forts
An irrigation canal

(C) A device to lift water

(D) A type of cloth

intensity in

(A) Delhi

(B) Awadh

éﬁ%’ Bombay

(D) The Chambal region

] ; -
90. The National Council for Education was set

up in the year

) 1906
(B) 1908
(C) 1909

(D) 1911
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91. Which dynasty ruled over Magadha after

the Mauryan dynasty?

A) Satavahana
(B) Sunga
92. Who was the most important God in the

(C) Nanda
(D) Kanva

Rig\'eda?
(A) Agni
_AB¥ Indra-
(C) Varun :
(D) Vishnu
558
-

93. Who become the first Chief Justice of India
after Independence?

(A) Dilip Bose
AB) Harilal J. Kania
(C) S. P. Mukherjee
(D) Nandlal Bose

94, Which of the following was the basic unit of
Vedic society?
(&) Jana
(B) Vidatha
(C) Parivar
(D) Sangh

95. The name of Sultan Mahmud's father is
(A) Alptigin
1B) Sabuktigin
(€) Ulugh Khan

(in”-g:wr’:(:'f i

0,4 "'ffl:"

— ANCC)=7/20

C-11
ompuny censed 10

fLast Indin €
1 of the following,

96, The Lnglish
hy whicl

be n trading company

legislations?
(A) Pints Indin Act of 1784

() Charter Act of 1833
(C) Charter Actof 1813

/7‘) Government of India Act, 1858

following scholars declared

97. Whoamongthe
was the homeland

that the ‘Suplsimlhav:l' region

of the Aryans?
(}) Dr. A. C. Das

(B) Prof. Max Muller
(C) Prof. Karl Penta
(D) Dr. K. K. Sharma

98. What proposal was made in the ‘August

Offer’ of 19407
_AA) Dominion Status
(B) Provincial autonomy
(C) Representative Government at the
centre
(D) Complete Independence for India
gradually

99, Who composed the Sanskrit Kavya
‘Saundarananda’?

JA) Asvaghosa
(B) Kalidasa

(C) Nagarjuna
(D) Visnu Sharma

100. “The most unique feature of this site is its
dockym.'d; the world’s first tidal port, which served
as a main seaport for the Indus people”.
. The above statement holds true for which
site?

(A) Ropar
AB) Lothal

(C) Rakhigarhi

(D) Nove of the above

(D) Banawalj

Please Turn Over
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101. The full form of the abbreviation NLM is
(A) Northern Line of Monsoon

AB) Normal Line of Monsoon
(C) Northern Limit of Monsoon

(D) Normal Limit of Monsoon

102. Mohammed bazarof Birbhumis famous for
_(A) Chinaclay
(B) Lime stone
(C) Dolomite
(D) None of the above

103. The Vale of Kashmir is the only level strip
of land in the Himalayas. Which river has laid its
deposits to form this level plain?

(A) Ravi
(B) Sutlej
(C) Beas

ZCD) Jhelum

104. Which one of the following States has got
highest density of population on the basis of 1991
census report?

/@4) Kerala

(B) West Bengal

(C) Bihar

(D) None of the above

105. *Smart Cities Mission’ was launched by
India Government in the year

_AA) 2014
(B) 2015
(C) 2016 ?

C-12

106. The famous Sindri fenil; :
i ilizer plant I8 locayey
(A) Madhya Pradesh
(B) Maharashtra

(C) Bihar

/pm Jharkhand

107. The National Metallurgical Laboratory of
India is at
(A) Jamshedpur
(B) Dhanbad
(C) Roorkee
(D) Ranchi

108. Yelagiri is a branch of
AA) Sahyadris
(B) Palni Hills
(C) Nilgiri Hills

(D) Annamalai Hills 558

109. TadobaNational Park known for Sheltering
tiger, panther and bear is located in

(A) Assam

Mduhumshlra

(C) Karnataka
(D) Tamil Nadu

110. Sidrapong of Darjeeling has India’s first
(A) Plywood factory
(B) Saw mill

,66)/ Hydropower station

(D) 2013

(D) None of the above
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111, Indian Maritime University is located at
(A) Hyderabad

_{BY Vishakhapatnam _

(C) Chennaj
(D) Kochi

112. Whichoneofyh
of Brahmaputra?

(A) Kameng
(B) Kopoli

(©) Seonath
(D) Dhansir

efollowingisnota tributary

113. In Thanjavur delta,
cultivated three times in a year.

(A) Wheat
~(B) Rice
(C) Sugarcane
g ss (D) Groundnut

_— -

crop is

114. In India which of the following criteria

applied in defining a town has varied from census
to census in recent decades?

(A) Density of population
(B) Total population

(C) Administrative status
) Working population

115, India is among the leading producers
—— inthe worlq,

C-13
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116. Which one of the following National
Highway has crossed Farrakka Barrage?

(A) NH 31
(B) NH 32
(C) NH 33
(D) NH34

117. The temperature of Thiruvananthapuram is
lower than that of Mumbai in May and higher than
that of Mumbai in January, because

(A) Thiruvananthapuram has cold current
and Mumbai is faced with warm
current.

(B) Thiruvananthapuram has higher
rainfall in summer and it is nearer to

the‘equator.
Thiruvananthapuram is on the
-

windward side and Mumbai is on the

¥ leeward side.

(D) Thiruvananthapuram is vegetated
while Mumbai is not.

118. Small areas of peaty soils occur in
(A) Haryana
(B) Rajasthan

(C) Uttaranchal /
/(B‘f Madhya Pradesh -
119. Which one of the following is a ‘Formal
Region’?
(A) Delhi metropolitan region

(B) Hyderabad-Secunderabad region

(C) Delhi-Jaipur-Agra Trian gle
(D) Assam Valley

120. Which one of the following statements is
not true?

(A) Ghaggar'swateris utilized in the Indira
Gandhi Canal.

(B) Narmada raised from Amarkantak
region.

izam Sagaris situated on the Manjira

? river.

(D) PcngangaisatributafyofﬂqeGodavaﬁ.

Please Turn Over
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121. The minimum forest cover necessary (0
maintain ecological balance is
(A) 50% of the total land area.
Aﬁ‘l J0% of the total land aren,
(C) 33% of the total land area.
(1) 25% of the total land arca.

122, state of India has more females

in number than males a sex-ratio of 1084/1000
- according to the Census of India, 2011.

(A) Karnataka
(B) West Bengal

/(.G) Kerala

(D) Orissa

123. Which one has not been correctly matched?
(A) Burdwan : Coal
Purulia : Lime stone
(C) Birbhum : China clay
(D) Bankura : Manganese

124. Rank the folded zones in India from oldest
10 youngest.

Dharwar, Aravalli, Eastern Ghat,
Satpura

(B) Dharwar, Eastern Ghat, Satpura,
Aravalli

(C) Eastern Ghat, Satpura, Aravalli,
Dharwar

(D) Satpura, Aravalli, Dharwar, Eastern
Ghat

125. The main species of the coniferous forests

of the Himalayas between the altitudes 1600 metres
and 3300 meters are

/(A) Cedar, Pine, Sine, Silverfir, Spruce
(B) Sagon and Sakhy
(&) Sandalwood, Rosewood
(D) Oak, Chestnut, Chir, Chjj

126, Which one is not a Tidal river?!

(A) lechamati '
(B) Vidyadhari
() Kalindi
b7 Julangi

List-1 with List-Il and select the

Ltl‘::.(.lh::‘l:\-:flltf from the co;ir:sl ?:vcn below:
List- !
(u[;m::v 1. Rainshadowzoneof Kamataka
(b) Amw 2. Thar desert |
(c) BShw 3, West Bengal and Bihar
(d) BWhw 4. Malabar Coast

a b c d
? A 3 4 1 2
o (B) 3 1 4 2
© 2 1 4 3
M 2 4 1 3

128. The Dravidian rock system is found in
region.

(A) Kirishna Valley
_AB) Chotanagpur Plateau

(C) Spiti Valley

(D) Damodar Valley

g 33
/ '.

129. Which one of the following sequences in

the ascending order of their geographical size is
correct?

(A) Bihar-Chhattisgarh-Jharkhand - Orissa

(BY”Jharkhand - West Bengal - Tamil Nadu
- Chhattisgarh -

(C) West Bengal - Bihar - Chhattisgarh
- Tamil Nadu '

(D) Chhanisgarh-.lharkhand-TamilNadu
- Orissa

130. The area from Punjab to Kutch falls under

type of climate.
(A) Bsh
(2 (B) Bwh
(C) Awf
O (D) Cwe
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131. Which State produces the high quality
Virginia tobacco?

(A) Tamil Nadu
/H!_l Andhra Pradesh

(C) Kamataka

(D) Maharashtra

132. In which of the following states is the
Karcham Wangtoo Hydroelectric plant located?

Jammu and Kashmir
(B) Himachal Pradesh
& Uttarakhand
(D) Rajasthan

133. The Border Road Organization was
established in which year?

LA) 1960

(B) 1972

(C) 1988

(D) 1991

134. The thickest coal seam is found in which of
the following places of India?

) Singarauli
(B) Jhingurda
(C) Kargail
(D) Kampte

135. Through which of the following States
Chambal river does not flow?

J-%)/U ttar Pradesh
(B) Madhya Pradesh
(C) Rajasthan

ABC(C)-7/20

136. Promoting Encrgy Access through Clean
Energy (PEACE) is an initiative between
Government of India and
(A) France

(B) USA

(C) Japan

(D) UAE

(9

137. Which among the following city is called
“7ero Mile Center” because of its location of

India’s Geographic center?
(A) Bhopal

AB) Nagpur

(C) Jabbalpur
(D) Indore

138. The Portuguese possessions Goa, Daman

and Diu were liberated in
/A\ 1961

(B) 1971

(C) 1981

(D) 1951

139. Prince, Victoriaand Alexandriaare the three
important and busy docks at

(A) Cochin

_B) Visakhapatnam

(C) Chennai

(D) Mumbai
140. Which of the following is the oldest atomic
power station? ;

(A) Kalpakkam

)' Tarapur
(C) Narora
(D) Kota

(D) Gujarat

Please Turn Over
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Bc(C-720 , famous

.l-”- Which river forms
falls?

(A) Cauvery
AB) Sharavati
(C) Narmada
(D) Godavari

1
1 and souther?
142. Mostofthe tribalsof thcccmr;lll ;:L
regions of India belong t0 ——~

(A) Negrito
B)’TPmm-:\uslraloid
(C) Mongoloid

(D) Australoid

143. Structurally, the Meghalaya Plateau is a

part of
(A) Himalayas

(B) Ganga Plains
JQ Trans Himalayas
(D) Deccan Plateau

144. Pipavav in Gujarat is best known for which
among the following?

(A) India’s first private port

/EB) India’s first Greenfield refinery
(C) India’s first ship breaking yard
(D) None of the above

145. Tobacco was introduced into India by the
(A) Chinese

«B) Portuguese
(C) English
(D) French

(B) Ranigunj
(C) Khetri
(D) Jharia

orts
148. Cochin and Visakhapatnam sea p

India are situated on the
(A) East and West -
(B) East Coast
(C) West Coast .
},H)’ West and East Coasts, respectively =

Coasts, respectively

149. Who in census of India applied the ‘ternary

diagram’ for the functional classification of towns
in India?

(A) P.Padmanabha
(B) A.R.Nanda
(C) Ashok Mitra
(D) Chandrasekhar

150. The chief coal b
known as the

(A) Siwaliks

) Gondwanas
(©) Vindhyans
(D) Cuddappahs

earing formation ip India i
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151. The Jhelum has its source from
(A) Mount Kailash
(B) Rohtang
Verinag
(D) Kulu ~

g ¢
iy, DR i
(A) Russia
(B) Germany
AC) Britain
(D) France

153. Which of the following hill stations is not
located in Himachal Pradesh? :

(A) Kulu
(B) Manali
(C) Shimla
ép) Ranikhet

154. Vantawng falls with a height of 229m are
located in which district of Mizoram?

(A) Champhai District
(B) Mamit District
_&) Serchchip District
(D) Aizawl District

¢ 55
155. Which one of the following reasons
dominates in Rural to Urban migration in India?

(A) Marriage

(B) Education

(C) Family movement

9)) Employment

156. The Baratang Island mangroves is located
in which of the following places of India?

JAT Lakshadweep

(B) Andaman and Nicobar
(C) New Moore

(D) Odisha

C-17 -—
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157. With reference to Indian forests, consider
the following pairs:
I. Tropical Moist Deciduous Forest:
Sandalwood (Santalum album)

2. Tropical Dry Deciduous Forests: (Shorea

robusta)
3. Tropical Thorn Forests: Shisham (Dalbeigia

5i5500)
Which of the pairs given above isfare correctly

maltched?
(A) 1 only
(B) 1and2

(C) 2and 3
(D) 1,2and 3

158. Jharkhand does not share boundary with
(A) West Bengal
(B) Orissa
©) Chhattisgarh
(D) Madhya Pradesh
159. Where is pearl fishing done in India?
(A) Cochin
(B) Kandla
(C) Nhava Sheva

_ng/ Tuticorin

160. In which of the following North-Eastern
States of India inhabit the Nishi tribe?

(A) Meghalaya
Arunachal Pradesh

(C) Nagaland

(D) Manipur

161. Sagar Samrat is
(M an oil drilling platform in Mumbai
High.
(B) an island in Indian Ocean.
(C) a ship used for Antarctica expedition.
(D) a space craft.

Please Turn Over
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sparates the
Yuncan Passage separates the
16, The Dunca \

[ 1

) South Andamans from midd)e
| o ‘
Andamans

(R Latdle Andamans
\ndamans

from North

P \ .
(W North Andamans  from middle
Andamans

() Little Andamans

from
Andamans

South

163, Which of th

¢ following rivers is older th
the Himalayas?

an
(A) Beas
S
_AB) Sutlej
(C) Teesta
(D) Kosi

164, Marmagag Portis linked 1q f,
means of cheap transport op rivers

AX) Zuari ang Mandovi

(B) Bhima ang Kalinad;
(C) Varagy and Malaprabha
(D) Gangawali gpq Savitrj

€ interior by

165. The Chennai-Bengaluru-Coimbalore-
Maduyrg; Tegion jg
(A) A major jnd,
(B) 4 major g
(C) Mangroy
(D) Dry Moy

strial regjon
gricultyry) region,
¢ foregt region,

Ntainoyg (Hilly) Tegion,

(B) M

cur ags sandy depogi, in
sand of 1apq floor,

(D) None of the aboye

C-18
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167, Conslder the following Canals of Indin wiy,
thelr connecting statey:

. Munak Canal—aryana and Delhi
: Intlim(hmtllll(Tnnul——'I'un_lulmml|lu]u.'ilhlu|
« Buckingham Canal—Andhry Pradesh gpg
Karnataky

Mudhya Pradey
Gujarnt
are correctly matched?

rJ

-

4 Nurmada Cangl— h ang
Which of the above
(A) 1and?2
(B) 2and 3
©) L, 2and3

(D) 1,2,3 and 4

168. Inwhich Fiv
dcvclopmcm w
objectives of tl

e-Year plan, by
A5 emphasized yg o
¢ plannip
(A) Second

anced regional

ne of the

Major
g excereise?

(C) Fourth —
)D) Fifth
169. The Southernmggy point of India i th
Nicobarlsl:mds was fo

(A) Indiry Point

(Bf Pigmalion Point
© Indirg Col

(D) Parsop Point

A
170. The Port of Ingj, Connecte 1 the Interigp
through the Palghay
(A) Madrag
(B) Marmaga, .
ochin
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172. Maldadistrictof West Bengalis famous for

X Sericulture
(B) Horticulture
(C) Apiculture
(D) Aquaculture

173. Sarva Shiksha Abhijan was launched in the
year
2000
(B) 2001
(C) 2002
(D) 2003

174. Which one records the lowest normal
temperature in the month of January?

(A) Bikaner
(B) Bengaluru
(C) Jaisalmer
(D) Firozpur

175. Murrah is a breed of

(A) pig
.8 (B) buffalo
" (C) sheep

,/(B} goat

. 176. The modem iron and steel industry in India
:‘ hasits beginning in 1870 when Bengal Iron Works
Company was established in

(A Kulti
(B) Bishnupur
! (C) Cossipore
i (D) None of the above

177. What is Obra?
(A) Copper project in Rajasthan

(B) Super thermal power project in Uttar
Pradesh

(C) Atomic power plant at Kalpakkam

(D) Hydroelectric project in Uttar Pradesh
Rohtang

C-19
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178, Titagarh, Amlai and Nepanagar are known
for

(A) Sugar Industry

(B) Ship Industry

(C) Iron and Steel Industry

D) Paper Industry

179. Match the following:

List 1 List II
a. SAIL 1. Chemicals
b. BALCO 2. Iron and Steel
c. BPCL 3. Ele_ctronics
d. BEL . 4. Aluminium
a b C d
/{ﬁ) 2 4 1 3
(B) 2 1 4 3
© 4 2 1 Vol
2 1 3 4y

180. Which one of the following sequences 9f
the steel-plants from East to West is correct In
India?

Jamshedpur, Rourkela, Durgapur,
Bhilai

(B) Bhilai, Rourkela,
Jamshedpur

(C) Durgapur, Jamshedpur, Rourkela,
Bhilai

(D) Durgapur,
Jamshedpur

Durgapur,

Rourkela, Bhilai,

181. The tropical forest in India have been
exploited more in India as

1. they are the only forest we have.

2. they provide good quality timber.
3. they are more accessible.
4

. there are restrictions on cutting of temperate
forests.

(A) 1 and 2 are true
AB7 2and 3 are true
(C) 3 and 4 are true
(D) 1 and 3 are true

Please Turn Over
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LA 187, Givenbelow aretw Ostatements, one |y

as Assertion (A) and other labelled Pelleg

as Reasony ( R):
Assertion (A): India is a multireligious ang mul )
cthnie society. ti-

nd in

- are [ou
1 (Andhra Pr adesh)

182, Wild ase
(A) parkal, Waranga

B) Rann ol Kutch (Gujarat)
4B N

' C) Manas, Barpeta (Assam)
{ il

. Reasons (R): The Constitution of India o

(D) Chandraprabha, Varanasi citizens, individually and collectively, fundamenty)
rights without discrimination on grounds of

religion, race, caste, sex or place of birh, ’

X7 Both (A) and (R) are true and (R)is the
correct explanation.

flersto gy

183. Which of the following States in India is
: through the stage of Demographic

!11‘:":-::1[1-011 which entails low fertility and low (B) BO“‘(f’t}ﬂﬂd(R)amtmc.bug(g,;snm
mortality? the correct explanation of (A).

(A) Assam > (©) (A)is true, but (R) is false.

(B) Haryana 0 (D) (A) s false, but (R) is true.

(C) Punjab

1N ;
(D) Tamil Nadu 188. Which among the following are the chief

? characteristics of shifting cultivation?
I. High dependence on manual labour

184. According to the Census Department of 2. Use of low level of technology
Government of India, a class III urban place have 3. Utilization of poor soils through fallowing
a population between 4. Use of chemical fertilizers
(A) 10000-19999 Choose the correct option from the codes given
(B) 2000049999 below:
(C) 50000-99999 (A) Tand2
(D) None of the above AB) 1,2and3
(C) 1,3and4 .
(D) 1,2,3and 4 '
185. Which river valley has Gondwana rocks?
(A) Ganga 189. Which Stateis calledtheagriculture epitome
(B) Brahmaputra of India? . : &
(2) Damodar (A) West Bengal
(D) Sutlej (B) Uttar Pradesh ?
=€) Punjab
(D) Haryana ]
186. The northward shift of the ITC over India
leads to the onset of 190. The Ramen peak is situated in
(A) Northeast monsoon (A) Arabian Sea
(B) Retreating monsoon (B) Bay of Bengal
(}G)\Soulhwcst monsoon Gulf of Mannar
(D) Westerly depressions (D) Andaman & Nicobar
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191. Match the following:

List 1 List 1l
a. Carevas 1. Uttaranchal
b. Chos 2. Jammu & Kashmir
c. Duns and Bhabars 3. Tamil Nadu
d. Circular huts 4. Punjab
a b c d
\-/( 2 3 4 1
(B)™ 2 1 4 3
) 2 4 1 3
(D) 2 3 1 4

192. Which State is the leading producer of
coconut 0il?
(A) Goa
/(B) Kerala
(C) Kamataka 2
(D) Tamil Nadu

193. In which State does most of the Vidarbha
region lie?

(A) Karnataka
}B) Maharashtra

(C) Gujarat

(D) Madhya Pradesh

$5%

194. Which one of the following is not correct?
/ﬂ(’_[oyTrain of Darjeeling hasbeen given
Heritage Railway Station by
UNESCO.
(B) Mangpu of Kalimpong subdivision is
famous for Cinchona cultivation.
(C) Lyed Botanical Garden is situated in
Kurseong subdivision.
(D) Himalaya Mountaineering Institute is
located in the Darjeeling town.

ADC(C)-7/20

195, Site refers to the

(A) external features of a place. |
(B) precise location of the centre of acity.
al resources O

/[,(?fpmximily to natur
transportation routes.

(D) internal locational attributes of aplace.
malayas

196. lies between the outer Hi

and lower Himalayas.
(A) Main Central Thrust

)ﬂ) Main Boundary Thrust
(C) Owen Fracture Zone
(D) Main Frontal Thrust

197. In India the most important source of

energy is
(A) Petroleum

)y Coal
(C) Nuclear
(D) Hydro-electricity

198. West Bengal shares boundaries with how

many foreign countries?
(A) Five
(B) Two
Three

(D) Four ‘§z.)

199. Loktak Lake is located in
(A) Assam
(B) Arunachal Pradesh
(C) Tripura
AD) Manipur

200. Nepal Himalayasextends betweentherivers
(A) Sutlej and Beas
(B) Kali and Sutlej
Kali and Teesta
(D) Teesta and Brahmaputra
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ASKED TO DO SO.

TEST BOOKLET SERIES

y before answering the questions:

fy the Page Nos. and Test Booklet
tice any discrepancy.

supplied for the purpose.

various items in the Test Booklet,
r instructions sent to you in the
in error in your marks.

| find four probable answers
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ved Nobel Prize for hig Work

= 'v‘f‘i"'?‘m ativity

eral theory of relativity
TIONon

electric effect

pee%t;;js h:ands near a cliff and
i f th atis the distance of the
_ € speed of the sound 1S
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16. What happens when dilute hydrochloric
acid is added to iron fillings?

(A) Hydrogen gas and iron chloride are
produced.

(B) Chlorine gas and iron hydroxide are
produced.

(C) No reaction takes place.

(D) Iron salt and water are produced.

: Sy
(A) Paper %
(B) Silver Lo ﬂzﬁ‘??
@2y Sodium S

(D) Gold v

18. The bacteria which causes peptic ulcer —
(A) Lactobacillus acidophilus

(B) Helicobacter pylori
(C) Peptostreptococcus
(D) Streptococcus avium
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36. The age of our universe is closest to
(A) 13-8 years
(B) 13-8 thousand years
(C) 13-8 million years
(D) 13-8 billion years

ich of the following frequencies isnotin
the audible range of sound for human beings?

) Hz

" (B) 50 Hz
(C) 500 Hz
(D) 5000 Hz

38. Which of the following is a wrong
description of binding energy of a nucleus?

(A) It is the energy required to break a
nucleus into its constituent nucleons.

(B) Itis the energy made available when
free nucleons combine to form a
nucleus.

(C) Itis the sum of the rest mass energies
of its nucleons minus the rest mass
energy of the nucleus.

(D) Itis the sum of the kinetic energy of all

- the nucleons in the nucleus.
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3 Which of the following pairs represent units
he same physical quantity?
(A) Kelvin and Joule
(B) Kelvin and Calorie
(C) Newton and Calorie

! ’Woule and Calorie —

The reading in centigrade scale is (-)40°.
the corresponding reading in Fahrenheit
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on travelling on 4 stra;ght line moves

lowing is not an example of

ABC(C)-8/20

56. PCRisa relatively simple and widely used
molecularbiology technique to amplify and detect
DNA and RNA sequences. PCR stands for

(A) Protein chain reaction

(B) Polymerase chain reaction
(C) Polymerase carbon reaction
(D) Protein carbon reaction

@l‘.hc gap between two neurons is called a
(A) dendrite
)" synapse
- (C) axon
(D) impulse

@ The first periodic table was given by
~Mendeleev \

(C) Bohr vwef”

D) _Daiten
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yer of Ozone is present in

dﬁ’ Stratosphere
(B) Troposphere
(C) Thermosphere
(D) Mesosphere

@ The Environmental Protection Act was
enacted in

&) 1986

(B) 1985
(C) 1987
(D) 1972

Banabhatta was the court poet of

Harshavardhana
(B) Kumarpala
(C) Ramapala
(D) Prithwiraja-II1

-H‘-"
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Pink City refers to
(A) Chitor
(B) Udaipur
(C) Ajmer

ﬁs Jaipur

87. In turbidity analysis, formazin is used
(A) to stabilize the samples.
(B) to preserve the sample.
(C) to make turbidity standard.
(D) to remove colour interferences.

8. National Ambient Air Quality Standards
- for major pollutants were notified by CPCB in
1994
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01/01/2016
 01/03/2016
) 31/03/2016

ochemical smog is related to pollution

D-13

ABC(C)-8/20

@ Ozone day 1s
' (A) January 30
September 16

() April 21
(D) December 25

is known as the Hermit Kingdom.

| (A) Nepal
(B) Tibet Fz
&

@
(C) Bhutan

Morsa

chhnically, there are Articlesin
the Constitution of India.

(A) 295

(B) 380

15395

") 375

 Pollutants in soil can be broken by
microorganisms. The process is called

—AT Probiotics
(B) Bioremediation g
(C) Bio-augmentation .

(B) None of the above
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@{96) Where is the world’s largest care and cure
centre for elephants be(mg set up in India?

(A) Kerala

(B) Meghalaya
(C) Chhattisgarh
197. What is the name of the latest earth

(D) Odisha

2020) along with 9 international customer satellites
from Andhra Pradesh?
(A) G Sat-30 |
(B) India Sat |
(C) EOS-1
(D) EOS-2

Alassane Outtara has been elected as

)

~ Aresident of which country?

(AFarey
(BBt

(C) Ghana

(D) Ivory Coast=_

' 199 - th):e has been India’s first solar-based

ated Multi-Village Water Supply Project
WSP) inangurated?

4 Gujarat |
g
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ABC(C)-9120 . Choose the cum_»“ Pliop,
N A, qev Bill may
1. Fill in the blank (A A pans i Sabha, P
o\ nding / in the Lok »* on|
Acconding to Article Notwithstandiii in 31l ma y
hine . it Yarl} nt may n Aoned B ybei
anything i this Constitution, Parliament =L By Al  Sabhg, “lrodu.ced
i . Vil
exervise of its constituent power amend by way of in the RaD Only

n (‘lf tIIL'

_ ! !\ ‘\1““'_..\' ”l" mﬂy & in
lure laic

poth Houses o paﬂi“ment. ieed i

addinon, variation or repeal any provisio
Constitution in accordance with the proce

(C)

down in this Arnticle’. soney Bill cannot he
(D) ASOETS endorg,
(A) 365 the Speaker of the Lok Sabhg, d by
(B) 266
(C) 367
(D), 368
Vi -
< < The Sixt)'-_hrst Amendmen, of the
Constitution of Ind'lzls- 1;‘]‘ C::; the Voling age of
aat elections 10 the Lok f?‘o ;21 mu’ﬂ-tgisla:i‘-c
< Assemblies of States YEAS 10 18 years ip
which year?
2. Which one among the following features of (A) 1984
the Constitution of India is indicative of the fact 987
: B) 1
that the real executive power is vested in the 1989
Council of Ministers headed by the Prime Minister )
in India? (D) 1990 |
|
4 (A) Universal adult suffrage |

S (B) Federalism
' (C) Representative legislature
6. Prohibition of discrimination on grounds of
religion, race, caste, sex or place of birth is a
fundamental right and is included in which
Fundamental Right?
(A) Right against Exploitation
(B) Right to Freedom of Religion
3. When was the Indian Constitution first (C) Right to ConstimuigueiBegiies
adopted? ),D) Right to Equality
(A) The Constituent Assembly adopted
the Constitution of India on 26th
January, 1950.
(B) The Constituent Assembly adopted 7. Which Article in the Indian Constitution
the Constitution of India on 26th Stmes that the state shall not deny t0 any persot
January, 1949. equality before the law’ or the ‘equal protection of
the laws’ within the territory of India?

(D) Parliamentary Democracy

1 }Qf The Constitution of India was adopted
by the Constituent Assembly on 26th (A) Article 13
Novcmbcr, 1949. /‘(B) Aficls. 14
(D) Tthonslitutionof Indiawasadopted (©) Article 15
on 26th November, 1948. (D) Article 16

P
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@ He i 4 citizen of India.
| & He has completed the age of

thirty five.
©) Heisamemberofthe Rajya Sabha.

l =' | (B) Nﬂpcmnsh;,nwcligihlcforclcclinn
3S President unless —

(@) He is a citizen of India.

(®) He has completed the age of

thirty years.

(€) Heis amemberof the Lok Sabha.

(©) Nopersonshallbe eligible forelection
as President unless —

(@) He is a citizen of India.

(b) He has completed the age of

forty years. Lo

. (c) Ufifess he holdsany office of profit

under the Government of Indiaor

under the Government of the
States. —

opcrson shall be eligible forelection
p— as President unless —

(a) He is a citizen of India.

(b) Hehascompleted thirty five years
of age.

(c) He is qualified to become a
member of the Lok Sabha.

43°

E

9. Hindi in DC‘Viln:lgil!'i SCl‘ipl is the official
language of the Union according to which Article
in the Indian Constitution?

(A) Article 342
(B) Article 383

) Article 343
(D) Article 344

« 8. L ‘Jt""
i pms'.d Whal . i o election #s
e of %qunhlirnlmm for ¢ B
(A 2 Choose the correet answer:
: NommonslnllvaligihlcI'nrt.'lvl.'linn
- dent unless —

ABC(C)-9/20

C-)

Constitution  (Nincty-second
Act, 2003, amended the Eighth
Constitution so as to include Bodo,
i and Santhali languages, thereby
| number of languages listed in the

10, The
Amcndmcnl)
schedule to the
Dogri, Muithil

raising the tota
schedule to

(A) 20
(B) 21
A16) 22
(D) 23

Duties were incorporated

: ntal .
11. The Fundame by which Constitutional

in the Indian Constitution
Amendment Act?
(A) 41st Amendment Act.

_kB) 42nd Amendment Act.
(C) 43rd Amendment Act.
(D) 44th Amendment Act.

12. How many seats are reserved for women at
all levels in the Panchayati Raj System in India?

(A) 1/2 of seats of Panchayati Raj
institutions.

&£B) 1/3 of seats of Panchayati Raj and
1/3rd offices of Chairperson at all
levels of Panchayati Raj institutions.

(C) 174 of offices of Chairperson of
Panchayati Raj institutions.

(D) 2/3 of seats of Panchayati Raj
institutions,

13. Fill in the blank:

Impeachment of th : )
be initiated e President of India can

(A) only in the Lok Sabha
(B) only in the Rajya Sabha
4€) in either House of Parliament

(D) in the Supreme Coyrt
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14, During the Proclamation of Emergency l_ht'
term of Lok Sabha may be extended at a time lor
a period not exceeding
(A) 2 vears
AB) 1 vear
-~
(C) 1.5 years
(D) depends on the discretion of the
President of India.

15. Which among the following is the final
authority to interpret the Constitution of India?

(A) The President

(B) The Council of Ministers
(C) The Supreme Court
(D) The Parliament

16. Fill in the blank:
A Bill cannot become an Act of Parliament
in India, unless and until

(A) itis passed by the Lok Sabha
(B) itis passed by the Rajya Sabha
(C) itis passed by both the Lok Sabha and
Rajya Sabha
) the President of India gives his assent
to the Bill

17. Sanskrit is the 2nd official language of
which state in India?
(A) Karnataka
(B) Madhya Pradesh
_€J Uttarakhand
(D) Himachal Pradesh

18. Choose the number of representatives of the
Rajya Sabha from the States and the Union
Territories:

A) 238
(B) 212
(C) 200
(D) 250

' o
-~ g \‘_‘_" q)r’

e

>

. of the moygi
is the name = on to draw
19, Whati? k gubhit 10 @ receny fiater ’::;

R of the 14 el
attention ¢ yrtance” 1 admitieq jy leads 1o

- e ;
yt public 117 1 busin
: (he nor mal PUSTIESs of the House for

definite maller of yroen public

urpet
getting! aside
discussing &
{mportance.
(A) Privileg
() No Con ‘ '
(C) Calling Attention Motion

/(1"15 A:Ijnurnmcnl Motion

¢ Motion
fidence Motion

,"\niCIc in the Iﬂdlan Constitutiﬂn
empowers the Supreme Court of India to issue
writs in the nature of habeas corpus, mandamus,

warrantoandccrtmrariwhichcqer

rohibition, quo-

Fundamental Rights?
&) Article 32
(B) Article 226
(C) Article 227
(D) Article 33

20. Which

21. Underthe Indian Constitutionitis necessary
to be a member of a house after 6 months of
becoming aminister. In whatway should aminister

become a member of the house?

(A) By nomination !
(B) By election %
Ae) Either by election or nomination .
(D) None of the above 4

|

22. Choose the correct option:
India has adopted the Parliamentary formof

democracy also called the Westminister model.
The Parliament consists of :
(A) the President and the Lok Sabha
(B) the Lok Sabha and the Rajya Sabha
the President and the Lok Sabha and
Rajya Sabha

(D) the Lok Sabha only

A

Scanned by CamScanner



X

Lo e - ABC(C)-9/20

o : Indian
Proy;,  \Mic] 27. Under which Article of the In

ChiIVIdes fore 21‘;\ of the Constitution of Indin Constitution the Supreme Court has original

d - ueation of all jurl'-'l”'-'“”" (0 deal with any dispute between the

nj " red
in the - W0 compulsery ? tute, the Centre and a State on the

age ‘6o 14 years “entre and th
. gmnpni 0O Centre d o X
(B) fs A Fupgymental Right one side and another .‘-l.llc‘;m the other or between
(©) ils A Legal Right (WO OF MOre SUAES cucenesess
Sa ; Article 131
: oral Right o (A) AT
is§ . ive Principles )
o l;q"dcd i the Directie PRI (B) Article 132
ate policy (©) Article 133
(D) Article 134
* Who . :
of Indjy lln(:jls fhe highest law officer in the States

(A °r Article 165?
) S“"‘!ary General of the State

Advocate General
(©) Chief justice of the State High Court

@) The Govemor of the State

28. Fillin the blank:

In India the concept of single citizenship is

25. When was the first general election to the

Lok Sabha in India helq? adopted from
(A) 1950~ 51 (A) The French Constitution
_~(B) 195157 (B) The Swiss Constitution
(C) 195354 }(;) The Constitution of United States of
(D) 195455 America

(D) The British Constitution

26. When can the Parliament in India make a
law on a matter enumerated in the ‘State list’?

(A) When a joint sitting of Parliament
passes a resolution to that effect.

(B) When the Lok Sabha by a 2/3rds
majority of members present and
voting passes a resolution saying that
it is necessary or expedient in the
national interest.

29. Which one of the following Parliamentary
Committees consist exclusively of members of the

(C) When both the Lok Sabha and the | Lok Sabha? — =
Rﬂj}l’a _Sabtf;la ts?lp?mel}' passes :; " (A) The Public Accounts Committee.
tion that It IS necess
pesoy v __B) The Estimates Committee.

cxpedicnt in the national interest.

(D) When the Rajya Sabha passes a (C) The Committee of Public

resolution supported by not less than Undeetakigiis:

two-thirds of the memberspresentand (D) The Committee on the Welfare of
voting th.at such legislation is in the Scheduled Castes and Scheduled
pational interest. Tribes.

Please Turn Over
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30, Choose the correet statement: -
(A) Public Interest Litigation (PIL) refers
< tolitigation undertaken to secure public
interest and demonstrates  the
availability of justice (o sm‘i;l”_\_‘
disud\';ml;ngml parties and was
itroduced by Justice P, N, Bhagwali
and Justice Krishna Ayer. Itisan L..'“.“I
judiciousremedy and a part of judicial
lnu‘li\'i%r11 toenforce public interest and

a vehicle to enforce rights.

(B) Only Supreme Court in India can
entertain Public Interest Litigation
(PIL).

(C) Public Interest Litigation (PIL) is
enshrined in the Constitution of India.

(D) PubliclntercslLitigution(PIL)inIrldiH
has not helped deal with major
environmental grievances and hasnot
helped victims who are handicapped
by poverty, illiteracy, ignorance who
have not benefitted by the

implementation of the laws enacted

by the legislature for the benefits of
the have nots,

31. In which
State of India?

) 1987 .
(B) 1988 .
(C) 1989
(D) 1990

year did Goa become the 25th

—

32. Which Article of the Constitution of India
say that there shall e 3 President of Indja?

(A) Art 6l
(B) Art62
(C) Art74

}D) Art 52

N

1 ‘. 'l'h(_- {l||ﬂ

rications fop
l!llc.“[l]" a

. Perg,
h['i”'L

inted Jml;:u.‘uflhc Supfcme
appoin . - r.
Article 124(3) are il
(A) He must be a ¢ zhw'
[n the opinion “-rlh“di "dia,
o distinguished ]uﬁn. ni"ryﬂf
Has been a Judge of i
at least five years, o th
Has been an "dvocaleo
for five years.

[')he

n
Co
]

Lay,

He must be a citizep, of 0
In the opinion of fa,
distinguished juris¢.
Has been a Judge of ajy;
at least five years. o
Has been an 3dV00ate0fa _
(or two or more Sug 8
succession) for at leagy ten

S

(C) He must be a Citizep of In di
HasbeenaJudge ofthe y;
ten years

Has been an advocg,

Court.

&h Coury ,,

Of the Higy

(D) He must be a citizen of India,
In the opinion of the
distinguished jurist.

He must be a sitting Judge of a High
Court for ten years

President 5

34. The Provision of Declaration of National

Emergency is mentioned in whichof the following
Article?

_{A) Article 352
(B) Article 356
(©) Article 360
(D) Article 365
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35. w 2 l'ph(_’ﬂ
hlchom“'hc h.ll:!\::’;‘; Aﬂ"z'z,i_

1 5
e Temitorla Jugisdict"

Calutta 110 €25

(B) Orissa High Court
(C) Andhra PraJe*h Hi
(D) Madras High Court

Fh Cﬂllﬂ

Jition of

he abx
[ndian

ide forl
i der the

“. Whom w 1)
the Legislative g:z::il ,i:la Grate un
Constitution? polish 2

4) Padi may by 13% 2

< L"Ellls:z:ncl Councilind Smlcnflcsr lh;:

Legislative Asscmhl . of the ta
_ passes a resolution 10
(B) The State Legislative Assc'n-lbly may
by law provide forthe abolition of
Legislative Council in 3 State.
(C) The Rajya Sabham2y by ¢
he abolition

provide for ! e
Legislative Council in 2 State.
the advice of the

(D) The President 0D
Council of Ministers may by 1a¥
of the

provide for the abolition
Legislative Council in a State-

37. “Untouchability” is abolished and its
ice in any form is forbidden under which

practi
Article of the Constitution of India?
/lﬁf' Artiele 17
(B) Anicle 18
(C) Article 20
(D) Article 21
38, Choose the correct statement stated in the

Constitution of India :
(A) India, that is Bharat, shall be a
Federation of States.
India, that is Bharat, shall be a Union

of States.
(C) India, that is Bharat, shall be a Quasi

federal State.
(D) India, thatis Bharat, shall be a Unitary

State.

(A) The Gove
of the State on
suffrage.

(B) The Govemoris appointed by the Chief
Justice of India.

p'ﬂxe Govemnor is appointed by the
President and holds office during the

President.

(D) The Governor is appointed by an

electoral college like the President of

India.

pleasure of the

943

42. To ensure free and fair elections the
Consm-unon of India establishes an Election
Commission. The members of the Election

Commissioninthe Centre are appointed by whom?
}A) President of India
(B) Prime Minister of India
(C) Chief Justice of India
(D) Vice-President of India

Please Turn Over

Scanned by CamScanner



\ﬂ.'

o~
‘

ABCUCr020

AN Choose the correct statement with respect

1O Right against explottation™ under the Indian
Constitution,

(A Freedomtopay taxes for the promotion
obany particular religion,

(I I‘u\hihilinnni'uni'l'icinInmmnlu'inﬂ-‘i
and foreed labonr,

A . {l‘) I‘I \‘Il‘k“i““ “II |“i“"| ily .\t‘h””l.\"
-
"l: ] (\“]“I“‘l\t" ‘\' lllililill)’ M‘I’\'iCU.

H. According 10 Article 85(1) of the
Constitution of India, the Lok Sabha must meet at
least how many times?

(A) Three times each year with no more
than four months between sessions.

(B) Atleast once a year,

(C) Four times each year.

(D) Twice a year with no more than six
months between sessions.

45.. How many members are nominated by the
President of India to the Rajya Sabha?

(A) 20
(B) 18
© 15

/CB) 12

46. As per the Constitution of India how many
members are elected in the Lok Sabha from the
Union Territories?

(A) 20
(B) 22

30
(D) 35

47. How many rights are guaranteed under
Article 19 of the Constitution of India?

(A) 7
(B) 5
276
(D) 4

ol

7 OV
Ll gw‘“’

preambleto the l:ltiéan C(lnﬂliluliunh

. nmended and the "‘[".l. 1‘ “chl"st'» ‘Secy) ﬂf
it I‘!nlt'}'ril)" have beehidddeg p, " har
- I n:"uI1 Act’? Choose the Correcy Optinn
I IA,f,me A!llulﬂillwm Act ¢
43rd Amcmlllll’nl Ac[

45th Amendment Acg

"HO 'Ib‘lll

()

(C)
(D) 46th Amendment Act

49, Which is the 25th 'High Court j,
(A) Allahabad High C{)un
lf‘ Andhra Pradesh High Court
(C) Bombay llligh Court
(D) Calcutta High Court

Indizy

50. Thc('iuw:rnmcnt0fIndiarg;\,ok(.’dlm:Spccml
status, or limited ﬂ_utonomy. granteq i
Article 370 of the Indian Constitution 1o T,
and Kashmir—when?

(A) August, 2019
(B).$eptember, 2019
%clobcr, 2019

® (D) November, 2019

51. Which Amendment introduced a national
Goods and Services Tax (GST) in India from
July, 20177

(A) 100th Amendment Act
By 101st Amendment Act
(C) 102nd Amendment Act
(D) 103rd Amendment Act

52. Ifthe postof both the Presidentand the Vice
President of India falls vacant who discharges lh-e
functions of the President till the new incumbent s
elected?

(A) The Prime Minister of India
(B) The Speaker of the Lok Sabha

2 The ChiefJustice of the Supreme Court
of India

(D) The Attorney General of India
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" The .
‘\:as t"sf’iret:lpt:.enmhlr: of the Indian Constitution
hich cnuntry? € Preamble of the Constitution of

(B) ls-]‘-‘.s leslitulin.t'l

(© 58 Constitution

) Ush Constitution
Onstitution of Canada

Co“r-( l:'aChc’OSe the case in which the Supreme
amend nna Majority ruled that Parliament cuulfl
could poy ll:an of the Constitution of India, but it
er , . H l ] f

e Cons‘imtio:r destroy ‘The basic structure’ o

(A) Minerva Mills Case, 1980

(B) Golaknath Case, 1967
Keshavananda Bharati Case, 1973

D) A k. Gopalan Case, 1950

S5. Choose the correct alternative :
AT 368 deals with the Constitution
amending bil]s,
(A) ABill to amend the Constitution may
be introduced only in the Lok Sabha.
A Bill to amend the Constitution may
introduced in either the Lok Sabha
or the Rajya Sabha. Prior
recommendation of the President is
not required.
(C) ABill to amend the Constitution may
beintroduced only inthe Rajya Sabha.
(D) A Bill to amend the Constitution may
be introduced only in a joint sitting of
Parliament after receiving the assent
of the President.

5§6. The Constitution 89th Amendment Act,
2003 established :

(A) RighttoEducationasthe Fundamental
Righttoalllhechildrcn under 14 years
in India.

) The “National Commission for
Scheduled Castes” and the “National
Commission for Scheduled Tribes”.

(©) Reservation of seats for women in
local bodies.

i 93
®) Three language policy. 4’1(

ARBC(C)-9/20

57, Which of the following Articles contain the

right to religious freedom enshrined in the @
Constitution of India? .4
(A) Art32-35 %
(B) Art29-30

47 Ant25-28

(D) Art23-24

58. The Directive Principles of State Policy

(Art. 36 to Art. 51) is included in which part of the
Indian Constitution?

(A) PartIII

Part IV
(C) PartV
(D) Part VI

59. Fill in the blank:

The office of the President of India can fall
vacant

(A) in case of death of a President
(B) if a President resigns from his post
(C) on the commencement of
impeachment in the Lok Sabha
Only (A) and (B)

60. Who is the highest law officer of India
under Article 76 of the Constitution of India?

(A) The Solicitor General of India

(B) The Secretary General of the Dept. of
Law in Centre
_(©Y The Attorney General of India
(D) The Vice-President of India

61. The Chairman of the Public Accounts
Committee of Parliament is appointed by the
(&) Speaker of the Lok Sabha.
(B) Prime Minister of India.
(C) President of India.
(D) Chairman of the Rajya Sabha.

Please Turn Qver

Scanned by CamScanner



ARCC)9220
- ety enforee
62, lt‘lhu(?m'vrnuurnlnf-'i-"“”"'1'”'?';:i:“t.‘.l 1l
the Directive Principles of the ?“IIII"‘““” J
citizencanmove whichamong the follo el
to file a writ petition to get them enforcedy
(A) District Court
(B) No Court
-
() High Court
(D) Supreme Court

_n('['lll”‘"

- lia
63. Which Article of the Constitution of ln(..ll
envisages that there shall be an Attorney Gener:

of India?
(A) Article 78
AB) Article 76
(C) Article 67
(D) Article 113

64. How many Fundamental Duties are included
in the Indian Constitution?

(A) 10
/(‘B) 11
©) 12
(D) 13

q493

65. Fill in the blank:
The Supreme Court of India tenders legal
advice to the President of India when

(A) the Cabinet recommends it

(B) the Council of Ministers recommends
it

_AC) the President asks for jt

(D) the Supreme Court wants to tender the
advice

66. Till now how many Judges of the Supreme
Court of India have been removed from office
through impeachment?

(A) 1
(B) 2
©) 3

/(D) None

i u !-M
Lo

10 woatitution
73rd Const! Ame“danz
Acl‘

7, 'The =
nc‘;‘-{ his introduect i 3
19 = X) 0 ll];-cc-l‘lt. .' ‘ hnvi anChayul.
A for all S1ates, ng POpujy, 'Ryj
er 20 lakh. i
ovel [
(3) o federal form of GO"Crnm
C) theterm ‘Snciu]i{;tv inth
( (he Indian Constitutigp

Cnt,
’°E"“ble;,,
reservation of seatg for |

] iy c AI’[
[ndian Community in the parli Blo.
dmep,

(D)

; » of the following
Which on¢ 0 8 right ,
8. Constitution guarantees the g der he
every resident of a countryy AMen

(A) Rightto Freedom
(B) Rightto Equality

Right against Exploihﬁou 1
' ' titution] p

Indian
right to

69. A motion of. no conﬁq’_‘?_—e aingt
Government can be introduced jp

(A) Rajya Sabha

(B) Lok Sabha and Rajya Sabha
{7 Lok Sabha

(D) Neither (A) nor (C)

70. Who appoints the Chairman and Members
of the State Public Service Commission?

(A The Governor of a State

(B) The Chief Justice of the High Courtof
the State

(C) The President of India

(D) The Chief Minister of the State

: {
~ 71. Whochooses the representatives of thestal®
in the Rajya Sabha?

(A) Chief Minister of the Staté

State
~B) Elected members of e
Legislative Assembly

(C) Governor
D) President
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{A(;ose the correct alter native
The Lok Sabha alone may vole ;m
1 the

CXpengjiure charped upo!
(B) $1°nsmhhm,d Fund 11!’ [ndin,
¢ expenditure that is charged upon
the Copglidated Fund of India is nol
VOlable jn cither House of Parlinment.
e expenditure that is charged upon
the Consolidated Fund of India Is
( Volable in either House of Parliament.
The Rajya Sabha alone may vole on
CXpenditure charged upon the
Consolidated Fund of India.

‘ 73. Fill in the blank:
Onstitutional position of the President

The US president

C The British Monarch

® The French President
) The Russian President

!m??. Which of the following statements is 1ot

(A) 'I:he Supreme Court in India is the
highest court in appeals.

/(ET The power of ‘Judicial Review’ is

entioned in the Constitution of India.

All doubts arising out of or in

connection with the election of a

- President shall be inquired into and

decided by the Supreme Court whose

decision shall be final under the

Constitution of India.

(D) The Supreme Courtshall be a Court of
Record and shall have all the powers
of such a court including the power to
punish forcontemptof itself according
to the Constitution of India.

75. Which Article in the Indian Constitution
contains provisions dealing with a Money Bill?
(A) Article 100
Article 110
(C) Article 122
(D) Article 125

ABC(C)-9/20

76, As per the Indian Constitution the Right 10

Property is i
(A Fundamental Right

() Natural Right
(C) Economic Right

}D) Legal Right

Constitution of India, what is the

7. Asperthe
- : h (number of members) of the

maximum strengt
Lok Sabha?
(A) 530

(B) 540
(C) 550

)B) 552 .

cle in the Indian Constitution

78. Which Arti
trary arrest and

provides for protection against arbi
detention? _
Article 22
(B) Article 23
(C) Article 24
(D) Article 25

79. If a High Court judgement is issued in a
state’s official language a translation in which
language must also be made available?

(A) Hindi
(B) Both Hindi and English
(C) Translation not required

(P) English

80. The Fundamental Duties are mentioned in
(A) Part III of the Constitution of India.
(B) Part IV of the Constitution of India.
(C¥ Part IV A of the Constitution of India.

(D) Schedule IV-A of the Constitution of
India.
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Dnte nlternative
8L Choose the most appropriate ll";su known
Parliamentary Government is al

(A) Responsible Government
(B Cabinet Government P
(C) Westminister forms of Governime
M7 of the above
-
] " 1 A 0 ‘c'
32, Which Constitutional .-\muuhmnllf -
discontinued the Anglo-Indian reserved seats
. - 1l vo')
the Parliament and State legislatures!
; ~AX) 104th Amendment Act,
(B) 103rd Amendment Act.
(C) 102nd Amendment Act.
(D) 101 st Amendment Act,

83. How is the Chief Minister of a State
appointed in Indjy?

LAY The Chief Minister of a State is
appointed by the Governor,

(B) The Chief Minister of a State s
appointed by the Speaker,

(C) The Chief Minister s appointed by
the Chief Justjce of the State,

(D) The Chief Minister is appointed by
the majority political party in the
Legislative Assembly of the State,

84. Who ¢
High Coun?
'ﬁﬂ The Parliament of India
(B) The Presidentoflndia

(C) The Supreme Court of India
(D) The Governor of the State

an extend the jufisdiction of a

of the Constitution of India
p at the commencement of the

(A) Part]
B) Part 1
(C) Part 111
(D) Part1v

) S allo N b

'l

full-—ﬂedgcd State of |

of a High Court g

86, A judge e his (enure by

jce durit .
. he Governor, ":lhe st
| l::.-w-; a resolution %
” = ; . .-

2/3 rd majority.

u i:rcsitll.'lll. on

from oll

(A)

,,-I'l s “Sig
(13) esolution passed by the - o,
7 reso irds majorigy 1 " liay,
by two-thirds majorigy ;o il s
of Parliament. %,

(C) the Chief Justice of the Su

;- ome (o
on 'hc rccommcndmmn é uﬂ

(T
¢
arliament.

(D) the Chicf Justice ofllhe High Coug &
the recommendatiop of the State
legislature.

83s

87. Who is the Chairman of the Rajya Sabhy or
Council of States? :

(A)-The Vice-President of India is the ex-
" officio Chairman of the Rajya Sabha,

(B) The leader of the majority party in the
Rajya Sabha,

(C) The leader of the o

PPosition party ip
the Rajya Sabha,

(D) The person elected from among the
elected members of the Rajya Sabha

by a simple majority of members
Present and voting,

88. Which Amendment Act made Sikkim a
ndia?

(A) 341 Constitutional Amendment Act
(B) 35th Constitutional Amendment A
4e7736th Constitutional Amendment Ay
D) 37t Constitutional Amendment A
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! Chﬂn;c'h‘ 92, wn"|p|ul'ul-fcmSpﬂlkcrInlhclmk,‘i;;hh;ﬂ
y . five ¢
clccmml o "fsld:n':":f_l‘"l;;‘:':‘: I:h-.m-l] hy the /m,;- The l'ir&tmccling after general election
of — Cnllegel "ﬁ;p Ir:"l‘l'l"' college conslsts in which the Speaker is elected by the
= members of Lok Sabha, is held under
mhber of Parliament

the ,-icniurmu«t me
known a% Pro-tem

yhers of poth
is commonly

LA @) (e elected men
, and

Houses of [Parliamen
(b) the crected members of !:|: spchar
Legislative Assemblies of th 1 |
S""c“. B) A temporary Speaker € ected by the
./ﬂl) () allthe members ofboth the Houses House when the spcakcr has taken a
of Parliament, an e — absence.
(b) all the members of the LegislatV ———
(ksgcfﬁlalics of the States: (©) The Speaker clcc':l:d :d e
(©) (a) the elected members of the Lok when both the Sped era :
peoha, Speaker are absent.
® th ) »
e clected oo e R (D) The Speakerwhoprcmdcsovcrajomt
session of Parliament.

Legislative Assemblies.

(D) (@) the members of the Rajya Sabha,

(b) the members of the Legislative
fperblics. 93, Whichis the oldest High Court established
e in India in 18627
- (A) The Bombay High Court
(B) The Calcutta High Court
o0; Wil C) The Madras High Court
incorpomiﬁgogﬂz gowingcon}nﬁgee suggested (D) The Allahabad High Court
Constitution? o8 ental Duties in the Indian
Swaran Singh Committee 94. Who is known as the Father of the Lok
(B) Narasimhan Committee Sabha?
(C) Raghavan Committee ) G.V.Mavalankar
(D) Malhotra Committee (B) Rabi Ray
: (C) Balram Jakhar

(D) P. A. Sangma

95. Name the Constituti
tutional Amendment Act
91, The members of Rajya Sabha are elected - ::](]:Iz[c:?s Pa: ;f d to provide free and compulsory
ion of all children between 6
and 14 years of

for a term consisting of how many years?
(A) 3 years e
o W Amendment Act.
© 5 years (B) 84th Amendment Act
i (C) 83rd Amendment Act
D (D) 82nd Amendment Act

Please Turn Over
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96, Beti Bachao Beti Pac 4
in other words, ‘Save the Girl Ch s
launched to generate awWarencss uml‘IlIITE‘r M
cfficiency of welfare cervices intended for g
India.

The prime concerns of BBBP are -

(A) prevention of g.cndcr based ¢
selective elimination, _ :

(B) ensuring survival and protection 0
the girl child. o

(C) ensuring education and participation

_of the girl child.
/(DS All the above concerns.

97. Which of the following are Fundamental
Duties of an Indian Citizen?
(A) Safeguarding public property.
(B) To abide by the Constitution and
respect its ideals and institutions, the

National Flag and the National
Anthem.

(C) Tocherish and follow the noble ideals

which inspired our national struggle
freedom.

{LD(fflrl the above

98. Choose the correct Amendmenttothe Indian
Constitution which has delinked the Right to
Property from the Chapter on Fundamental Ri ghts.

(A) 43rd Amendment

) 44th Amendment
(C) 45th Amendment
(D) 46th Amendment

£,%%

99. Choose the correct answer:

(A) The Constituent Assembly of India

took about one year to complete its
work.

(B) The Constituent Asscmbly of India

took about two years to complete its
work,

‘(9\/1113 Constituent Assembly of India

took about three years to complete its
work.

(D) The Constituent Assembly of India

took about four years to complete its
work.

/

100. Which of the L Mtemeny |

correct? A) The President is the hegg

( forces in In ilu. t

The President eqp |

(B) ::l:,mmission 1o invegy :&pﬁ:m a
conditions of SCs anq STy 10 the
The President can declg,
a Scheduled Area, -
The President of India "
Speaker of the Lok Sabhg,

©)

)D)

00ses the

101. Corporate profit tax is
(A) astate level tax

-

collected and useq b

Government ¥ Union
(C) collected by State Goverp, e

(D) collected by centre, useq py g,
Govt.

102. The Panchayat system wasintroduced after
this Amendment of the Constitution:

(A) 65th Amendment
(B) 68th Amendment
(C) 72nd Amendment
AP 73rd Amendment

103. C.R.R. instruments are applicable
on

}J‘ff Scheduled commercial banks only
(B) (A) + the investment companies

© Allcommercial banks and nonbanking
financial companies

(D) All of the above

104. Indicate the correct statement.
Early phase of Indian planning experienced,
(A) Tmport substitution
(B) Import liberalisation
;? Freely floating exchange rate

) Both (B) and (C)
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Excise d:;““ incorrect statement :

:;)) :Ot Tgressive.

(©) ; o Unpopular.

(D) "Mposeq on exfactory production.
NOnC Of the above

IMI 3 . ‘
banks Pn.-;)my sector lending by commercial

( Raised the level of non productive
assets (npa)

r»- (B) Reduced npa
- (©) Uncertain

(D) Remained neutral as to npa

l -
. 07. Which Concept of money supply includes
urrency demang deposits withcommercial banks,

other de!aosits with RBI, time deposits with
commercial bagk_g’? ==y

(A) M,
(B) M,

,(Q,/Ms'

(D) M,

108. National Rural Employment Guarantee Act
provides employment to,

(A) skilled rural workers.
(B) semi skilled rural workers.
) unskilled workers.

(D) Both (A) and (B)

109. Committee on financial reform
recommended
(A) Phasereductionof Statutory Liquidity
Ratio (SLR)

(B) Gradual increase in SLR
(C) Making SLR an important credit

-
ABC(C)-9/20

110. Central Government do notcollect revenue

from these sources:
(A) Central excise duty and Customs duty

(13) Personal Income tax and Corporate

tax
Agricultural Income tax and Land

Revenue
(D) Wealth tax and Capital gains tax

111. ‘Operation Barga’ programme beneficially
affected the following class:
(A) Landlords
(B) Agricultural labourer

_KeJ Share croppers
(D) Intermediaries

112. Rateof recovéry of agricultural creditissued
by the commercial banks is :

(A) very high
(B) modqrate
(C) high

)Dﬂ’ﬁow

113. Structural Adjustment Programme in India
required
b
(A) fiscal deficit zero Se <
(B) fiscal deficit very low

(@Y Tiscal deficit very high
(D) fiscal deficit moderately high

" 114. Relativeimportance in Governmentrevenue
in India is high in case of

(A) Direct tax

((D*)’ Indirect tax

(C) Public debt.
(D) Deficit financing
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115, Deficit financing is strongly inflationary
when

AT Govt, takes loan from the RBI
(B) Govt. takes loan from the capital
market

(€) Govt. borrows from commercial banks

(D) Govt. mobilises small savirigs from
the market

QAL

«

116. Finance Commission is appointed for a
term of

(A) three years

(B) _four years
_AC) five years

(D) six years

117. Which statement is correct?
In cooperative farms

“(A) Farmers pool ll‘l?:jir]and toformalarge

holding.
(B) Farmers do not face joint
responsibility. )‘0
. © Pn'va'le ownership of land does not
remain.

(D) Farmers do not join voluntarily.

118. Petrochemical industries have a long chain

(C) Applies to some extent
(D) Uncertain ‘ A
(

119. The status of the Bargadars is
(A) Owner cultivator.

/(B)/ Share cropper.

(C) Agricultural labourer.

C-16

]

120, Policyof freightequalisation affected West

Bengal
(A) hcncﬁcinlly

/ﬂrrmlvcrscly
(C) it was peutral

(D) uncertain

121 Re-Discounting of bills is a source of

(A) long term credit. ‘
(B) short term trade credit.

(C) medium term credit.

(D) assistance for Govt. loans taken from

market

122. Major part of Indian agriculture shows
(A) capitalist agricultural system.
By small size farm.
(C) large size farm.
(D) Co operative farm.

123. Proceeds of Personal income tax go to
%tral Government
(B) State Governments
(©) State Governments and Local Self

Governments
(D) Central and State Governments

4
|

124. Which item does not usually come under
India’s import basket now-a-days?
(A) Petroleum
(B) Crude oil

1(2‘) Fertiliser

(D) Food grains

125. Following concept of money supplyiscalled
‘narrow 2

1
(B) M,
© M,

(D) Marginal farmer.

(D) M,
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Ut the wrong statement.

nl.'mug «ficit
ﬁnnnci“g_ e in Money u||\|\|.\' through deflc

126,

) Raiseg e gucrion if supply condition
B .isel“-‘lic.

i .“ Stants muliplier working.

(©) llhclmmcmph.)- unutilised resources:

1t .
Lig always inflationary.

127. L;md "e“!:nue b
&) Collected by Central Government and
'Stributed among states.
) Collecteq and retained by Central
Government,
© Collecteq by States and taken by
Centra] Government.
Collected and utilised by State
OVernments.

128. Lang Reform aimed at

(A) raJ;Singcom;ml of Government on land
sale.

M raising power of the actual farmers.

(©) raising power of the intermediary
class.

(D) None of the above

129. Abolition of Zamindary system in West
Bengal took place in the year

(A) 1951
| 1953
(C) 1960
(D) 1961

130. Bank nationalisation had the following
objective:
(A) Branch expansion
(B) Extension of loan to priority sectors
(C) Ensure depositors’ security

/(pa/An the above

7t

|

?

131. Which one of the following statements is

ABC(C)-9/20

not true?

=~—""Mahalanobis strategy of planning implied:

&(A) Import substitution
mrl!uildhlg of infrastructure and heavy

industrics
(C) High priority on industrialisation

Mluhulisalion of the economy

132. Which one is correct?
To control inflation, RBI .
(A) instructs banks to reduce interest rate

on lending. ’
(B) purchases bonds from public.

(C) reduces SLR. -
}D)/raises CRR (Cash Reserve Ratio)

133. Government expenditure on the following
item do not contribute to national income:
(A) Defence expenditure
(B) Subsidy on public enterprises
(C) Interest on loan
9)’ Administrative expenditure

134. Post economic reform witnessed
(A) Very high growth of employment in
organised sector,
(B) Very low growth in same sector.
(C) Moderate growth.
/(D‘) Jobless growth in organised sector.

135. Finance Commission is appointed by
(A) The Prime Minister
AB) The President
(C) The Parliament
(D) The Planning Commission

136. Volume of bill finance j i
market is ¢ in the Indian money

(A) relatively high,
(B) relatively low,.
(C) medium,
(D) excessive,

Please Tyry Over
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L7, Disinvestment of the public sectot
enterprises wok place beeanse of
(A) capacity unutilisation,
(1) Tow profitability.
() increased burden of subsidy.

- (M Al of the above

138, Taxation on agricultural income in Indiais
(A) relatively high.
(B Tow.
v 'lﬁ proportionate to its contribution.

(D) None of the above

139. Overall responsibility of agricultural credit
and refinance lies on

(A) RBI
) NABARD
~(C) Co-operative bank
(D) Land Development Bank

140. Which statement is not correct?

Small scale industries in India are
advantageous as

(A) theyhave high employment potential,
43) highly capital intensive,
(C) use of local skill and material,

(D) capitalused per worker relalively_ low,

141. Find the incorrect statement :
Green revolution made possible
ﬂ(ﬁ)}\!cry low use of chemical fertiliser

(B) Used of HYV seeds
‘//(C) Increase in the use of agromachinery

D) Multiple cropping

18

(42, Post 1991 reform MEOSypee

on eee——

(A) ImportT ’

() Impor substitution

e\ mport lil‘u:rnli;au“n
promotion

(D) Both (A) and (B)

Ve
°mphnsi3
estriction

ing Xpory

143. During the pre reform perjgg th
was less used

(A) Varying CRR
(B) Varying SLR
(C) Discount rate mechanjgm

/(D)’All of the above

iS lCC hniun

144. Literacy rate is the highest among India i
(A) Maharashtra
(B) West Bengal

‘(CT Kerala

(D) Tamil Nadu

145, Sectoral distribution as 1o gross domestic

product (G D P) in India shows the following
pattern now-a-days: '

(A) Percentage share of industry sector is
the highest '

A(BY Percentage share of the services sector
is the highest

(C) Percentage share of industries and
services sector together are around
50%

(D) None of the above

146. The year of Bank nationalisation is
(A) 1965

B3 1969

(©) 1971

(D) 1973
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cnergy in India:

147. Most important souree of
(A) Hydel power
(n) Solar power
() Nuclear power
/(D) Thermal power
148. Percentageofpeople giving personalincome
tax in India is
(A) high
(B) low
(C) medium
(D) uncertain

149. In a well dC\re][)pcd bill market

(A) fmqlll:ncyot‘bil]sch:mgingh:mds will
be low.

(B f"‘fquncyofbillsr:h:ms__'fingh:mdswill
be high.

(C) frequencyofbillschanginghands Wil
be medium.

(D) market will be neutral.

150, Tertiary sectoractivities include_____— —
(A) Mining activity.
) Banking activity. <
(C) Dairy farming.
(D) All of the above

151. Money defined as M, consists
(A) Only chequeable deposits
% (A) above + currency
(B) above + mutual fund deposits
(D) None of th.:: above

152. Duringfirsttwo decades of planning foreign
exchange position was
(A) very satisfactory
unsatisfactory
(C) moderate
(D) uncertain to state

C-19

B

153. Moncey supply when defined as M, consists

ABC(C)-9120

T, (R
(A) Commercial bank time deposits only

(B) (A)above and currency plus demand
deposit

" (B) above
deposits

(D) Includes (B) above and High power

money

plus post office bank

154. Amount earned by Union Excise Duty is

shared by
(A) Central Government
(B) State Governments
(C) State Governments
Governments
(D) Central and State Governments

and Local Self

155. Which one of the following does not come
under Central Government expenditure:

(A) Debt servicing

(B) Defense expenditure
Maintenance of law and order and
police force

(D) AdministrativccxpensesofmeCenu'aJ
Government

156. Inflation appears when there occurs,
increase in money supply.
(B) one time increase in price level.
(C) increase in profit and production.
(D) continuous increase in price level.

157." Indian agriculture mostly shows this type of
unemployment

(A) Voluntary unemployment
(B) Cyclical unemployment
) Disguised unemployment

(D) Frictional unemployment

Please Tu rn Over
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IS8, First Industrial Policy came into existence

in the year,
(A) 1947
~AB) 1948
(©) 1950
(D) 1956

159, The ye
of India is

(A) 192)

_B) 1035

©) 1947

(D) 1949

ar of setting up of the Reserve Bank

160. Privatisation policy under

the structural
reform does not imply this:

(A) Increase in mono

poly power in
industria] field.

(B) Decrease in the role of industrial
licensing,

9’ Increase in the importance of public
Sector enterprise.

(D) Both (A) and (B)

161. Indicate the incorrect statement;
Impact of economic reform was,

A) unsatisfactory progress of basic capital
goods industries.

(B) neglect of agriculture.
._(C) increase in security of workers.
(D)- growth of unemployment. _

162. Impact of economic reform policies on
agriculture was

(A) beneficial.

AB) adverse.
(C) remained neutral,
(D) uncenain.

/v.’)/ _

C-20

{
|
|
|

163. Financial  Reformg
recommended
(A) Administered rate of i""f.'rc“

,(.H’J/I)crcgulalinn of rate of inereg,
-(C) More loan to "0"'Pf0ﬁlahl

sector —~————
(D) Both (B) and (C)

Ommi”ce

¢ Priority

164. In the pre reform ]?eriod, Monetary, f;
and administrative connection forbankjng actiy
were

sca|

ities

(A)Causes of low profitabiljty of
commercial banks.

(B) raised profitability of banks,

(C) supported by financial reform;
committees.,

(D) raised banking efficiency.

165. Indicate the incorrect statement: :
Land reform porgramme in India aimed at
(A) rent regulation,
(B) land ceiling.
t€nancy security.

increasing power of intermediaries

166. Whichone of the followingitemsisincluded
in National income?

) Subsidy on rationing
(B) Scholarship
(C) Administrative expenditure
(D) Relief grant

167. Find which statement is correct.
Sales Tax

A) is progressive.

(B) is regressive.

(C) is non-inflationary,

(D) brings distributive justice.

A
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Provies help in the following

<) p a
r;c?l\i’tliigﬁ'g agricultural refinance
Gi"ing l;:rm loans to commercial
bankg
< .Gi"ine long-term loans 1o small
Industries
(D) Giving loan 10 State Governments
169,
undennk: Programme ‘Operation Barga' was
M With quick success in
(A) Punjap,
West Bengal.
(©) Maharagr,.
(D) None of the above
170. In the POst economic reform period, the tax

re i ;
form Measures implied the following:

Decline in the rates of taxes and
reducing evasion

(B) Increase in tax exemption
(C) Increase in the tax rates

(D) Increase in the administrative
complexity.

171. Devaluation of Indian currencyin 1991 was
expected to have this effect:

(A) Decline in exports

Increase in exports
(C) Decline in exports and imports
(D) Increase in imports

172. Indicate the statement which is not correct:
The Industrial Policy 1991 witnessed
(A) Abolition of industrial licence for
majority industries.
) Upper limit of foreign investment
reduced.
(C) Upper Jimit of foreign investment
raised.
(D) Privatisation of public sector
enterprises introduced.

\’b
o

ARC(C)-9/20

173. Major part of employment in India arise in

this field
(A) Organised sector

«17) Unorganised sector
(C) Public sector

(D) Both (A) and (C)

174. Open market operations practiced by RBI
(A) are direct credit control technique.
}B’f are indirect credit control tcchn';que.

(C) assist foreign exchange dealers.

(D) (A) and (C) above

175. The new economic policy observed this

approach toward monopolies
Remove all restrictions on monopolies

(B) Tighten such restrictions
(C) Keep neutral approach
(D) Regulate monopolies partly

176. Contributionof agricultural sectorin G.D.P.
in India =
(A) Morethanits percentage share in total
employment of that sector.

(B) Lessthan the percentage share in total
employment of that sector.

(C) Both are approximately equal.

/LD‘)'\Uncertain. -

177. Agriculture budget in the plan period was
proportionately high in

First plan
(B) Second plan
(C) Third plan
(D) Fourth plan

178. Maintenance of high statutory liquidity ratio
(SLR) was not favoured by

(A) The Chelliah Committee

(B) The Chakraborty Committee
(C) The Narasimham Committee
(D) The Tarapore Committee

Please Tury Over
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179. Contribution of savings as a percentage (o
G.D.P. is the highest in the sector

(A) Public sector

(B) Corporate business sector
}(.‘}"I louschold sector

(D) Industry sector

180. RBI practices Repo rate to
,Lﬂ_/nhsm-h liquidity,
(B) increase supply of liquidity.
(C) uncertain impact.
(D) regulate interest rate,

I81. First five decades of planning observed,
_‘(_)rj'- Hindu rate of growth of GDp
(B) High growth of per capita income
(C) Decline in per capita income
(D) High growth of GDP

182. Public Sector Enterprises (PSE) assumed
this role after new economic policy

(A) Their importance increased.

) Their importance decreased.
(C) Neutral.
(D) Uncertain.

183. Theneweconomic policy took this approach
toward foreign direct investment

Encouragement
(B) Discouragement
(C) Neutral
(D) No change in previous approval

184. Cash reserve ratio (CRR) as an instrument
of credit control is,

(A) Direct and mostly effective

jﬂf Indirect

(C) Effective in a few circumstances
(D) Uncertain in

5

o,

of the Ccnlm

185, "Treasury bills arc instrum,
Government Lo secure
(A) Long term credi
(B) Very long term Crediy
(C) Short term credit
(D) Medium term credjy

186. Which onc of the followiy,
statement?

(A) RBIdoesnotcontro] foreignex
reserve.

(B) RBIdoes not provide short-term loan

to the Central Govemment.

(C) RBIcontrolsforeign exchange reserye,

RBI has direct control on the

non-bankingﬁnancialintennediaries.

Sisamn,

Chan gc

187. Economic infrastructure doe
this item:
(A) Road-rail network
(B) Electricity generation
(C) Telecommunication
Programme for literacy

§ not include

188. Exclusive

power to issue currency notes
lies

with
A Reserve Bank of India

(B) Central Got. Ministry of Finance
(C) Central Govt. Ministry of Home
(D) Both (B) and (C)

189. Which statemen

In the pre-reform period public sector
enterprises in Indijg Wwitnessed
(A) high inefficiency and subsidy
(B) increased cost of production
high degree of profit
(D) Both (A) and (B)

t does not apply

190. Indicate which one does notapply existence
of huge black income creates '
(A) lnequalil}' in income distribution
(B) Fall in the contribution to Goy
pool
' High living standard for all
Luxury consumption increases

t. tax
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191, Green revolution amd m-‘[\;nnl hi-
Strategy first appear in the produe

(A) paddy,

(B) oil seeq,
AC) wheat,

(D) pulses,

192 Inflationary pressure in the domestic market

(A) makes balance of trade unfavourable.
4B improves balance of trade.

(C) does not affect fore

ign exchange
reserve

& foreign trade.
(D) the relationship is uncertain,

193. Interest rate paid o

n cash reserveg kept by
the banks with RBI is !

- (A) lower than market lending rate,
higher than market lendi ng rate,
(C) equal to market rate.
no interest paid.

194. Impact of

bank nationalisation did not
include this:

—

(A) Total deposits increased
(B) Priority sector loan increased much
e Security of depositors’ fund declined

(D) Branch €Xpansion took place

195. Role of the RBI during the lan i
followed this line: s

(A) Expansion of dev.
(B) Contro] of specul
© Expansion of

elopmentg) loan
ative Joap
bank ing

ol ABC(C)-9/20

196. The Panchayal system is a
(A) two ticr system
three tier system
(C) four ticr systemn
(D) five tier system

llowing does not come
i honcnflhcfo' . ot
. Whla;‘::cmomic liberalisation progr:':mrnc ?
— “E‘;\‘; Removal of the system of industrial
licensing - .
i i s relating
tion of restrlcu?n
. Il':ic:::polics & Restricted Trade
Practices (MRTP) o
Increase in the import restrictions

(D) Increase in the limit of Foreign Direct
Investment

lan gave utmost
198. The second five year p gave ;
emphasis on the growth of the following industry:
(A) Consumer goods
£8) Capital goods

(C) Small scale industries and ancillaries
(D) Electronic goods industry

199. Which of th

efollowing items does notcome
under National In,

€Ome measurement?
(A) Wagesto agri

cultural labourer paidin
kind,
(B) Receipt from second hand sale of an
automobile.

200, Long-term loan to the .
usually comes from Corporate sector

activit; Commercig) banks
through bill discounting 8 (B) 'NABARD
/(ﬂ{ All of the above © Leag Banks
) Capital magie
-
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196, 'The Panchayat system is a
(A) two tler system
y three tier system
(C) four tier system
(D) five tier system

191. Green revolution and new "urlcnllurnl
Strategy first appear i the production of
(A) paddy,
(B) oil seed,
-
AC) wheat,

(D) pulses. 197. Which one of the following does pot come

under the economic liberalisation programme?

.moval of the system of industrial
192. Inflationary pressure in the domestic market (A) Rem

licensing )
(A) makes balance of trade unfavourable. (B) Reduction of restrictions relating
m‘) improves balance of trade. Monopolics & Rc.‘lrlcu:d Trade
(C) does not affect foreign exchange Practices (MRTP)

reserve & foreign trade. Increase in the import restrictions

(D) Increaseinthe limit of Foreign Direct
Investment

< . g
~ (D) the relationship is uncertain.

193. Interr.?st rate Qaid on cash reserves kept by 198. The second five year plan gave utmost
thehanks:with REES emphasis on the growth of the following industry:

(A) Consumer goods

4B Capital goods
(C) Small scale industries and ancillaries
(D) Electronic goods industry

P (A) lower than market lending rate.
(BY" higher than market lending rate.
(C) equal to market rate.
no interest paid.

199. Whichofthe following items does notcome
under National Income measurement?

(A) Wages toagricultural labourer paid in
kind.

(B) Receipt from second hand sale of an

194. Impact of bank nationalisation did not
include this: -

(A) Total deposits increased
(B) Priority sector loan increased much

27 Security of depositors’ fund declined automobile.
(D) Branch expansion took place (C) Profit of the public sector enterprises.
‘ 9)) Value of .the product kept for self
consumption.

195. Role of the RBI during the plan period
followed this line:

(A) Expansion of developmental loan
(B) Control of speculative loan

200. Long-term loan to the éorporalc sector
usually comes from

Commercial banks

(C) Expansion of banking activities (B) 'NABARD
through bill discounting (C) Lead Banks
All of the above (D) Capital market

Scanned by CamScanner
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L. S menor 12 womenean do'a piece of wiork
in 20days, The numbar of day s needed o complete
the job, f 10 men and 15 women are emploved 1o

dov the same preve of work s

(AL 10 By G
(R 15 - a6
(W) 8 iE=T

l.’:
(M 20 b o

2. Rajuinvesied Rs. 15,0000 two parts, One
part on 8% and other a1 12% per annum. His
annual income i R 1640, Ratio of the two parts

respechively \‘C‘
(A} R:7F
(B 5:9
(Cr 4:11
(D) 7:11

3 0f a sum of money doubles itself at
compound interest in 12 years. In how many years
will it hecome four times?

(A 26 years
(B 24 years
(C) 20 years
(D) 18 years

|co

4. Successive discounts of x% and y% are
eguivalent to a single discount of

(A ( )% LS
v ::1:” 100 7
(B) —=%
}r’mr—%m
=y o
(D) =5

5. Gold andCoppummmﬂmnm" y

bem:xcdmfnmmau@luﬁﬁﬁ
water by 15 times?

-2

& Exampapers247.

in
fr. The e mpound interest on Ks. 10.900
(3 i

| Of per annum s
1|
2 ) Vs

(A) Rs. 2010

(B Rs. 2250
_J,(..']'Rm 2705
(1)) Rs, 2633

7. If a = 2021, b = 2022, ¢ = 2023, then the i
villue of a4 b* ¥ &)= Babe is I
(A) 18198 .

(B) 20158

(C) 19288

(D) 19188

8. The marked price of a pen is Rs. 200 and a
customer buy it for Rs. 153 after two successive
discounts. If first is Iﬁ% then the second is

(A) 20% ! qf}g#/w 2
,ﬂ

(B) 18%
/Q)’ 10% 9 -
(D)

15%
9.Ifaandﬂ'bcthermt§efthcqua.'_
equation ax” + 2bx +c=0and @ +7v, B+7ybe
those of Ax* + 2Bx + C = 0, then which one is
correct?

(A) AXB* - AC) = & (H* - ac)
(B) AXB: - ac) = a(B? - AC)
(C) b(A* - BC) = B¥(@® - be)
(D) BA? - BC) = b(d® - be)

LA



P T 1y

11. Rahul’ssalary is first increased by 10% and
then again by 20%. But due 1o covid the salary is
decreased by 25%. By what per cent the initial
salary changes?

(A) 1% increased
),Bl 1% decreased
(C) 2% increased
(D) 2% deoreased

12, A man buys two types of oranges equal in

number one at 5 for a rupee and the other at 3 for

a rupee and sells the whole at 6 for Rs, 2, then his
gain or loss per cent as

(A

“(B)

()

(D)

= at : -
28% gain > e

20'% loss
0% gan

25% loss

13, A train travels at a speed of 30 km/hour for

12 minutes and then for the next 8 minutes at a

speed of 45 kmvhour, then the average speed for
the journey 15

(AY 36 km/hour

(B) 39 km/hour

(C) 40 km/hour

(D) 42 km/hour

14. If tan 26 tan 6 = 1, then the value of tan 20
18 .
(A1
1

(B) 75’

13-3

ABC(C)-10/20 9;91

16. Sneha wants 1o buy a furniture worth
R5. 12,500, she g gets adiscount of 109 on it After
getting the discount, she pays 18% GST. Find the
dmnount she will have w pay for the furniture,

5,‘3

(A) Rs. 12,540 !

(B Rs. 13,128 L3 513*:"?‘ W“"H
(€'} Rs. 13,275 2925 9
(D) Rs. 14,250 % a

9 °
ok 3
:f‘; then

17: If 2% 4 ‘iv + 22 —21}*—!)3:

I A T
(A) 1:223
(By 23
(C) 2534
(D) 3:2:4

18. A pipe can fill a tank in 16 hours. Due 1o
a leak in the bottom, it's filled in 24 hours. If the
tank is full, how much time will the leak take

to empty it?
(A) 36 hours
(B) 42 hours
(C) 45 hours
(D7 48 hours

. Aman travels three-fifthof adistance AB at
a spaed 3x and the remaining at a speed 2y. If he
goes from B to A and returns at a speed 5z in the
same time, the:n wh:ch one is correet?

1.1
(A) ;““;“g

(B} xX+y=z

itk 2
'('C:"lez

(D) x+z=y




——

B-4 ' qve numbersi
- . teacondof the five n sin
A B{_.Ir{ ).fﬂij i _.,ﬁl ]-III'IL: 11]‘}.‘.] dl'li-l -"':-I:J 2 ;““j S rcf.pCL‘uVe]}"u i—hEn
e ceanen [Fhe oot tionare 2
2 J.».juhn‘k‘*L‘”"’“i"‘“’k;" ;'P“_m.““ i i g t-mmnucdr*f“P“‘f‘I
Rl at 20% Jess and sold it for Rs. 18 less. he fifth qumber i$ . . 2’
had boughtitat = .4 25% The cost price of the ]/:' 12 ’;, %
he would have gatneth == (X)) 3= . 4:1’
ht]l'llk 15 ; {B:’ |.('J J?;
(A} Rs. 80 [i# ',;‘1 T"' ©) 64 1;;_ Qi
(B) Rs. 70 ) (D) 256 f_)_l.r-'
i) Rs. al) :f oo _— ?__
A i
(D) Rs. 90 - 7. The simple interest and compound interest
; of H.anain sum of money for two years are
33 Ifa i+ b + e =ab+be+ca. then which one 00 30d K 410 respecli\fﬂly. Then the rate of
15 OGRS interest per annum is
l.»-'\hu+}*+r':(l ,(45((3%1 o 0
SR A /" (B) 6% o o> 20°
(CY a-b-c=0 ; Zx S e
D) N “the ab / (C) 5.5% Hqoo=
(D) None of the aboye
‘ (D) 6.5% R
23. Ramand Shyam solve aquadratic equation. . m
28. Average age of 8 sons of a family is- 12

Ram makes a mistake in the constant term and

Fndstharootsass. 3 Shyarymakes amistakein years. Average age of the sons together with their

the co-efficient of x gets the roots as 1, =3. The parents is 21 years. If the father is older than the
ottt ronls ire mother by 8 years, then the age of the mother is

(A) 1,3 (A) 48 years 7 I o]
(B) -1.3 53 years '
(€) =1,-3 (C) 60 years 1 \@

(D) 1, =1 o (D) 62 years : 9%

?- o - I' A -
24. Bs, 6000 is divided among 40 boys and 29. Rohitsold two booksat Rs. 60each. On one
some girls so that each boy gets Rs. 100 and each he gains 20% and on the other loses 20% . Then he

girl gets Rs. 250, then the number of girls is made 'T' 2" ;
(A) 20 :
@;12 g0 4 (A) no profit no loss Wﬁ =

(B) I5
(B) loss of 4%

(€ 8
ke i (C) gain of 1%
8 56 (DY1oss of 1%
2. A : g s=
+ /A man gets a simple interest of Rs. 3500 on 30. BaruninvestsRs. 5000 forayearand Tarun

a certain princi -
principal at the rate of 10% Per annum in Joins him with Rs. 8000 after six months. Afterthe

; ) I th.e -
I [ :E IIIE F] Inc'lpal HI t“ B ) Ems at thEsalIleIate I EllaI E ls

(A) Rs. 2520
(B) Rs, 1750 L f
/(B) gs. 2500 e z,!%

(C) Rs. 2200

(C) Rs. 2100
(D) Re:294pt o e
SHOT ON REDMI 7 i (D) None of the above ,LL):' "7;?‘
i j & KOO
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31. In the figure (not drawn to scale), a circle
touches the side BCof AABC at P and sides AB and
ACproduced at Q and Rrespectively. If AQ = 10 ¢m,

then the perimeter of AABC is
(A) 10em C R
(B) 20 ecm A .ﬂ
(C) 5¢em S
(DY 25:em B ¢

32. Ifthe semi perimter of aright-angled triangle
be 5 cm and hypotenuse be ¢ cm, then the area of
the triangle is

5
(A) e sg.cm
(B) scsq.cm
(C) s(s—¢) sq.em
(D) None of the above
>
33. The income of Priya is 40% higher than
that of Liza and the income of Disha is 20% less
than that of Liza. Income of Priya is higher than
income of Disha by 15,0

ABC(C)-10/20

36. 'rﬂ+ﬁ+r_‘=ﬁ. then
I 1 1

{ 1 - < i
b1E) IR iy (A

(A) abe

1
B) e

(C) 0
(D) 1

37. In an examination, 34% of the candidates
fail in Bengali and 42% in English. If 20% fail in
Bengali and English, the percentage of those
passing in both subjects is
44
(B) 45

is equal to

e + a7

(C) 46
(D) 47
38. Mohit went to a shop to buy 3 kg of rice.
ich cost him

He buys two varieties of rice 1
Rs.4.50 per kg and Rs. 5 per kg. He spends a total
of Rs. 240. What was the quantity of less

(A) 25% S e i R
ce |2 expensive rice bought by him?
(B) 75% /0 f_%(!fﬂ/ i ke yro 56O
(C) 100% A : '(B) 25 ke
"a .. ¥
None of the above 3.5 : (©) 30k 2@ 5[ 50
Three solid spheres of gold whoseTadii are (D) 35 kg 13 >0

1 cm, 6 cm and 8 cm respectively are melted i mtu
asingle solid sphere. Then tharadms of the sphere

IS.
(A) 7em
(B) 8cm

SHOTON RE™ "~
Al DUAL CAt

39. The ratio of syrup and water in 30 litre of a
mixture is 1 : 5, then the amount of water required
to mix to make the ratio 1 : 6 is

(A) 3 litres

5

(

25

ion 75% passed in Maths,
'mbolhand45 students
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ABC (EJ-M:’? | p
-nntuincr-ui“ hase diameter ..!.ﬁ
riul I.;ﬂ‘ water which s poured in

41 A conical |
i dameter 2pR, then Il

and height His full fie
a eylindrical container :

; i £
will oceupy d height equal 19

(A) _'lp:H
H
(B -"T!;

s
3
(D) —;-I—r-.-\_—
3

(]

2. If the time taken to go from one station to
other is required to be decreased by 201% then by
what per cent the speed of the train will have ta be
mcreased?

(A) 20%

_ /JQB’T 25%

(C) 15%
(D) 12%

43. Satyajitis younger than Diganta by 8 years.
If their ages are in the ratio of 5: 7, then how old
is Satyajit? ' e
(A) 18 years
(B) 22 years
(C) 25 years
20 years

#H. The mean of five obsery @ﬁs

B-6

. drawn 10 scale)
r figure, (not _ cale)
e lgg[ad triangle, ZB = 90°,

r(i]gng l_l_ﬂg cm, the value of rm oo
n (=

45, In the

A

46. Arightcircularcone, arightcircularcylinder
and a hemisphere, all have the same radius and the
heights of cone and cylinder equal their diameters,
Then their volumes are proportional respectively

(¢}

(A) 2:1:3
(B) 1:3:1
(€) 1223
(D) 3:2:1

47. A merchant purchases 11 toys for Rs.10 and
sold 10 toys for Rs. 11. His profit is a
(A) 15%
5 208

48. A sum of money lent |
interest becomes double of itse
il, triple itself in

X6 x4 g Rt o S
chrl ;;: +8is 11. The mean
(A) 9 5
(B) 9:33: .
(C) 13 g
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7 ABC(C)-10120
whf;gh Lit:fi‘sec; :i‘;zcet?:ri'l andtan®—sin O =n._ then Sfl. The cost price of an article A is Rs. 200 and
- S selling price of another article B is Rs. 308. If the
(A) m~+n==2mn selling price of A will be equal to the cost price of
B, then the profit after selling A is 10%. What is

\ 3
(B) im® = n= amn the profit on B?

©) m®—n?= 4 (A) 20%
(C) 40%
(D) 50%

14984762 x 984764

51. Simplified value of

984763x984763 '° 55. In an election 15% of voters did not vote.
{a] seaiee el by 400 oo Than e ot it of
(BY 984763 votes are.
e (A) 15000
¢ B (B) 16000
(C) 17000
(D) 19000

52. The income from a bus in every trip is
Rs. 100. If the bus fare increases by 50% and the

number of passengers decreases by 20%, then the ~ 56. The radius of a solid sphere is R cm. It is
income in every trip is ' - bisected, then the total surface area of the two

pieces obtained s,
(A) 5aR®sq.cm
(B) 47R* sq.cm
(D) 3nR?sq.cm

le POR, points A, Band C are the
de P and RPrespectively.

C is 16 sq.units, then

SHOT ON REDMI 7
Al DUAL CAP
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is thrice as that of

58, The speed of a boat in still water is _62- The “5:’50{:2::&‘;?:; of the father will be
; e ear travel 20 km downstream and his son. After 1- yERES thi Son to Ry

8 kn/hour If itcan e . T e that of his son. The age © yis

; ot the same time, the speed of the
12 km upstream at the Sare ) 13 g

stream 18 . 5
(A) 2 km/hour “15 years
(&) 18 years 3’5

“(B) 2.5 kmy/hour
(C) 3 km/hour (D) 24 years

(D) 3.5 km/hour

63. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved

59. If x=5+26, then figii'l is equal to surface areasare intheratio 8:3, the ratio of radius
to the height is.

Sl (A) 3:5

(RS0 (B) 3:4

(C) 973 (C).'l Vo

(D) 874 D) 2 1

|

60. The lengths of two parallel chords of a 64. ABCD is a C}'Cl'i'b N il

circle are 6 cm and 8 em. If the smaller chord is at S DC s : : : An
v ot g, the e istmoe o || 1 24D < 75cend 2PC < thn =

the other chord from the centre is equal to
(A) Sem Qi o T
(C) 3cm (C 543
(D) 2cm (D; ii”

by+cz, y=cz+axar
a 3

— i ¥ et an

TratTob" 4e 1

(A) O
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66. Ranjan sold his bag to Joydip at a gain of
8% and Joydip sold it to Raju at a gain of 10%.
If Raju paid Rs. 297 for i, the )'mce paid by

Ranjanis ,:2'-' j
(A) Rs. 250 %Hﬂﬁlﬂ“ 4
" (B) Rs.260 =

<" {(©) Rs.270 3/8 A

e (D) Rs. 280

6. fa=d 57}5— ‘i‘r' ~\3-22 , then

x equals to
(&) 22-1

(B) 1

2
© V5+1

SHOT ON REDMI 7
Al DUAL CA
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70. Lateral surface arca of a right circular cone
is three times the volume of that cone. If the height
and the radius of the cone are h unit and r unit

1 1

respectively, then IE+T is equal to
r
(A) |
(B) 3
(C) 9
(D) 9

71. Ahemispherical bowl is made of steel sheet
0.8 cm thick. The inside radius of the bowlis S em.
Vniurne of steel used in making it is

(A) 146 cm’

(B) 1449 cm’
(C) 146.9 cm’
(D) 148.6 cm’®

72 If“"fzx=a"-!-.',"ﬁ"".' - ok
then which one is correct?
(A) x+y=a
(B) ¥+y'=b
m)ﬁ+ﬁ—ﬁ
(D) None of the above
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reatest and the least value of

74- The g UD) are ? aﬂd 3 l'e'SpECti\-'Bl}"

a+bsin0(0°<6<9
The value of @ and b are

(A) a=2,b=35
(B) a=3,b=4
(C) a=0,b=7
(D) a=3.b=7

75. If P(1,2), O(4,6), R(5,7) and S(a. b) are the
vertices of a parallelogram PQORS, then the values
of @ and b are

(A) a=2,b=06
(B) a=1,b=5
(C) a=2,b=3
(D) a=6,b=7

76. The radius and height of a cone are each

increased by 10%, then the volume of the cone is

increased by
(A) 21%
(B) 33.1%
(C) 25.3%

B-10

78. If the cost price of 12 articles is equal to |
Sﬂ]ﬁng price of 10 articles. then percentage nf|

profit is -
(A) 25% #%,?c;%
(B) 30% & 20

Z

x+da  x+4b
" x—4b

is equal to

1 2 1009 o
a9, 1 1+x +2+;'y +10_Q’9 _+"z.;_1’ then

x v
T+x 2+y
(A) 0

®) 1

D) 3

+—_— % al
1000+ 'Scqualto
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83. A sum of money compounded annually
becomes Rs. 500 in two years and Rs. 550 in three
years. The rate of interest per annum is

(A) 8%
(BY 10%
() 12%
(D) 15%

84. The areas of two similar triangles are
36 sq.cmand 81 sq.cm respectively. If the median
of smaller triangle is 12 ¢cm then the corresponding
median of the larger triangle is

(A) 12cm
(B) 18 cm
(C) 24 cm
(D) 10em

85. Ifthe rate of compound interest for the first
vear is 4% and second year is 5%, then the
compound interest on Rs. 25,000 for 2 years is

(A) Rs.2000 %
Rs. 2300 ZWK @ﬁ

(C) Rs. 2400
- ?_6’0%’
(D) Rs. 2500 Eaie S

86. A and B can do a piece of work in 10 days,
B and Cin 12 days, C and A in 15 days, then that
numbers of days taken by A, B and C together to
finish the work are

(A) 6days

ABC(C)-10/20

87. Pipe A can fill a tank in 3 hours and pipe
B can fill it in 4 hours. If they are opened at
alternate hours and if pipe A is opened first, in how
many hours will the tank filled?

(A) 3 % hours

!
D !
(B) 4 hours :1
o Wt > &g
(C) 45 hours == T2
|
(D) 3 3 hours

88. Six years hence, a man’s age will be three
times the age of his son and three years ago he was
nine times as old as his son. The present age of the
manis

(A) 28 yrs
/LBfr/3U VIS (2 é
¥ {C’_} 32 yrs ‘ '_)_,%
(D) 34 yrs

89. 76 ladies can do 4 job in 33 days. Due 1o
some reason, some ladies did not join the work and
therefore, it was completed in 44 days. The number
of ladies who did not join the work is

(A) 22

(B) 21 22 88
(©) 20 4'5‘%

(D) 19

90. In a joint business ratio of the capitals of

three friends was ; 34 After 4 months the first

friend withdrew half of his capital and 8 months
thereafter Rs. 2024 was recorded as their total
profit. What was the share of profit of the first
friend?

(A) Rs. 542 a

(B) Rs. 672 V. s
(C)RE. 736 My vy 96

‘/m)":‘.gm l? 2

ol

Please Turn Over )4 ;rﬁ
At 23, AR

r
i
i
£

L —
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ABC(C)-10/20 ; oo wobth R k500 I

difference berween simpleinmi‘cst and 95, (zut gr. Ljofizfas :'jken 4, [f_theirni,ém |
¢ ',.1::.1 o @ sum for 3 years.at 10%. | remove an tl11J o ke 10 thmﬂm
ere s compounded annualy s price is thereby INETEE , then the
i . price of the horse 15 .

91, Th
compound 1n
when the interest

Rs. 153, Then the principal value is (A) Rs. 6000
(A) Rs, 4000 _ (B) Rs. 6300
(B1 Rs. 3000 ho (C) Rs. 3600
() Rs. 5500 e} (D) None of the above

(D) Rs. 6000

96. The produf:_tinn of scooters rose to 48400
from 40000. If rate of growth is 10%, then the
92, The current population of atown is 120000. s ey ed 1

If the population increases by 10% every year, (4) 5 years 4606 & o>
then the population of the town after three years (B) 4 years v g _
1 = . i
will be (C) 3 years qﬁ éi

(A) 125550 z
(B) 162900 {%Q#Jx%f /{g’zym

(C) 134630

/«Dfﬂlsg?gn X 1e I
|2 ’ﬁ’? - 97. Two circles with radii r, and r,
respectively, touch each other externally.

'? ‘a ( % [ fﬁ Let R be the radius of a circle that touc

o0 @ |20 74§ | twocirclesas wellasacommon tan

93. If (x + 1)? = 3, then the value of
R Py 2022 L 201 L 2015 2016 +1is
(A) 0
(B) 1 |
(C) 2020 |
(D) 2016 |

M. lfzmﬂ*l-ﬁm
Beora=Ssinafisequity
(A) 9 g

(B) 25
© % N

-“
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99, The mean of afrequency distribution is 8.1, 103. What fraction of 4/7 must be added to itself
if £fx=132+5k and Xf;=20 then the value of k to make the sum 15/147 '
is (A) 112
(A) 2 By 47
(B) 4 (C) 778
(C) 5 (D) 15714

A anufacturer marked an article at
5. 120.and sold it allowing 15% discount. If his
it was 20%, then the prime cost of the article

(A) Rs.85 | J% F/Eg\.j;

(B) Rs. 90 W
(C) Rs. 100 : 104. A man can row upsﬁtan} atiﬁ_:?rnph and
' . downstream at 13 kmph, The speed of the stream
(D) Rs. 110 o2 ihiee at P P -
(A) 2.5 kmph
(B) 4.2 kmph
101. A boatman goes 2 km against the current of (C) 5 kmph

the stream in 1 hour and goes 1 km along the

(B) 10.5 kmph
current in 10 minutes. How long will it take to go

5 km in stationary water?
(A) 40 mins e -
_ (B) 1 hour - ;
" (C) 1 hr 15 mins

' (D) 1 hr 30 mins

SHOT ON REDMI 7 -
Al DUAL CAM
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106. Study the following table and answer the
question based on it:
idates Appeared, Qualified and

Number of Cand
mination from

Selected in o Competitive Exa
Five States Delhi, H.I ULEP, Punjab and

Haryana Over the Years 1994 to 1998

[ oem | e | ue Funjab

YO oo s ot | App. s Set | Amp Jaua. | Sot | App. Cusli ol Ape
{vos7]nooa] #5q | 34 | rmc0] w0 [z [7500 /720 |7 | Bzou | 6no )38
{“eae]se00| 500 | 46 | 7Sa0] oo s {5600 |szp | s | G800 | 80| 70
{1653] o] a4 | &2 | 7ato] ss0 [70 Jasnafavo |an | 6500 52585
{avoafssonfsso | ot | asco] uan [8s [ rovofesp | 70 | 7800 720 ]84
{2001]s000j 800 [ 7o | 7200 850'|75 |850q] 850 | 60 | 5700/ 485 |50 |

In the year 1997, which state had the lowest
percentagc of candidates selected over the
candidates appeared?

(A) Delhi

(B) H.P.

(C) U.P.

(D) Punjab

107. Jayaand Himaare competing ina 200 meter
race. Both start the race at the same time, but Jaya
starts the race 40 meters ahead of the starting point,
whereas Hima starts the race at the starting point..
Assume thathmanms ataspeed of 10 meters per
second, whereas Jaya runs at a speed of x melers

per second. If both reach the finish line at the same
time, then what is the value of x‘i' |

8 meters per second
7 (B) 10 meters per second
(C) 6 meters per second
(D) 2 meters per sgmnd

B-14
e first of three consecutive

odd integers 15 an twice the third. The

third integelt is
w59

() 11

() 13

(D) 15

Study the following alphabengal "

Direction:
based on 11,

sequence and answer the guestion
GAGH UTAAKHGAOYYDKKVRABICDD&*

RFFAHAHAIH
110. The numberof vowels thatare absen: inthe

above series is
(A) {L
ABY 1
(C) 2
(D) 3

111. The 5th term in the fallawmg series:
ab®+ bsz +ed?+
(A) de®
(B) ef?
(] fe*
(D) &




113. A and B are at a distance of
start towards each other af
they start a bird sitting on the capof A, starts flying
towards B. touches B and then returns towards
A and so on, till they meet. What is the distance
traveled by the bird, if its Speed is 176 kmph?

(A) 3040 m

(B) 3200 m

(C) 3100 m

(D) 2600 m

800 m. They
20 and 24 kmph, As

114. A boat running downstream covers a
o distance of 16 kmin 2 hours while for covering the
same distance upstream, it takes 4 hours, What is
. the speed of the boat in still water?

(A) 4 kmph A
(B)" 6 kmph

“(C) 8 kmph
(D) Data inadequata

115. When a number is ;

1dded to seven-ninth of

thirty-five per cent of 900, the resultant is 325,
What is the number? =

(A) 81
(C) 95 ity |
(D) 60 |

B-15

ABC(C)-10/20

Direction:

Monica, Amar, Akbar and Anthony
liveinthe fo

Hrapartments that are arranged side by
side. Only one of the above four persons is the
landlord whoge apartment isatthe one end. Amar’s
4partment is neither next to Monica's apartment
nornextio Akbarsapartment. Monica's apartment
is not at one end. Amar is not the landlord.

117. Who lives just beside the landlord?

Maonica
(B) Atar @m i
(C) Akbar (AT M
(D) Anthony /*

118. A man rows downsticam 32kmand 14 km
upstream. Ifhe takes 6 hours to covereach distance,
then the velocity (in kmph) of the current is

(A) 1/2
(B) 1

/;H' ;
~(D) 2

119. If one-third of a tank hold 80 litres of water,
then Lhqu&aﬁty'of-wa!ﬁrthatha]fafthe-tnnk_hglds

s 240
| -

®) 100ltre

SHOT ON RENMI 7
Al DUAL CAM
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on foot?
(A) 3/19 ,
(B) 4/11 %’E% 3 Coo
(C) 5721 5

ABC(C)-10/20
121. A shopkeeper gives WO .xuccr:-ﬂi_tc

discounts of 20% and 10% on surplus stock.

Further, he also gives 3% extra discount on cash

payment. If a person buys a shirt from the :xu:'plus

.‘\[Illi_‘k and pays in cash, what overall discount

percent will he get on the shirt”?

(A) 605

(B} 5.67%

(€7 31.6%

M 2%

122, If the letters if the word “PSCEXAM”
dre rearranged according to the reverse English
:'lehuhenc.ﬂ order, how many letter(s) will remain
in the same position after the rearrangement?

(AT O T
(B) 1 R e
(C) 2
(D) 3

B-16

123. A person travels 3.5 km from place A 1o
place B, Out of this distance, he travels 5/3 km on
bicyele, 7/6 km on scooter and the rest on foot
What portion of the whole distance does he CI:WEII

(D) 5/6 %'L%'ij

following pie-charts show the
U ) = o = «

¢ students of graduate and post-
: different institutes in g

124, The
jsiri won 0
distributic gadep's
graduate jevels 10 5S¢ Vel

town. i
pistribution of students at gri!dlfﬁtf and
gu-wt-grudunic levels in seven institutes:

- number of Students of

et
i 27300

Graduoate Level =

Total number of Students of
Post-Graduate Level = 24700

“.l' - 3 |
.hd[ 1§ the total number of graduate and post-
graduate level students in institute R?

(A) 8320
(B) 7916
(C) 9116
(D) 8099
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125. When a ball bounces, it rises (0 % of the
heijaht from which it fell. [f_lhc ball is dropped
fm;ﬂ 4 height of 32 m, how high will it rise at the
third bounce’!

(A) 13m

(B) 13.5m

(C) 1435 m

(D) None of the above

126. Study the following table and answer the
question based on it:
sumber of Candidates Appeared, Qualified and
selected in o Competitive Examination from
Five States Delhi, HL.P, UP, Punjab and
Harvana Cver the Years 1994 (o 199%

f_'—m HE. e, Punjab | Haryana
oo Gal S| Anp |Qualset | Ao jauat | Sel. | Agp Jous el [aps. fauat [sal
risono] 250 | 24 | 7aca| 10| 62 [ 7500|720 | 18 [aoo] seo)as [sd00| 700 76

rooe| 48000 500 | 48 | 7500 800} 65 | 5600|620 | BS Bﬁj:_l]lla_nmnmaﬁn?ﬁ

Y24 7500 620 | B2 | 7400|550 70,4800 1400 | 48 | B5S00| 525 |65 [5200| 350 66

unfseo0| 830 | o0 | ea0o| 920 | 86 |700a 650 | 70 | 7m00] 720 | &4 [sa0n| sin 80

ot ieooo) 800 | 7o | 7200 esa| 75 [as0ofeso | ao | 570 4es|so [4so| son | s

The percentage of candidates qualified from

Punjab over those appeared from Punjab is highest
in the year

(A) 1997

(B) 1998

(C) 1999

(D) 2000

Iwcmﬂmfﬂurap

y one of

I .
() SHOTON Renwmi =
_/ Al DUAL CA
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128. Consider the following three statements by
Amar, Akbar and Anthony.

Amar : “Anthony is a good boy.” Akbar: “Amar s
a liar.” Anthony : *1 am not a good boy.”
You know that at least two of them are telling the
truth. Whao is/are telling the truth?
(A) Only Amar
(B) Amar and Akbar
(Cy” Akbar and Anthony
%:/ All of them

-

129, If Pamela ranks seventeenth in a class of
thirty-one, what is her rank from the last?
(A) 12
(B) 14
2y 15
(D) 16
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Direction: Monica, Amar, Akbar and Ang
live in the four apartments that are arranged sid,
side, Only one of the above four persons i
Jandlord whose apartmentis at the one end. A g,
apartment is neither next to Monica’s apartn
norne'xtt'oAkbar’sapamneut..m:u.njca.s._.m tme;
is not at one end. Amar is not the landlord,

Direction: Monica. Amat, Akbar and Anthony
live in the four apartments that are arranged side by
side. Only one of the above four persons is the
landlord whose apartment is af the one end, Amar’s
apartment is neither next to Monica’s apartment
nornext o Akbar's apartment. Monica’s apartment
is not at one énd. Amar is not the landlord.

131. Who is the landlord?
(A} Monica
(B) Amar
€T Akbar

(D) Anthony

135. Monica lives
(A) at one extreme end.
(B) between Akbar and Amar,

°) between Akbar and Anthony,
(D) between Amar and Anthony.

132, Ir fa. &) « (e, o)
.JE E). ,.3 >
[5 "7 (?-3) will be
(A) 1
(B) 0

) 7
(D) 2

=(a_+d}_§ then

136. I =y (n=1) (n<2) . (s s
ﬂlenfh“:vﬁiﬂﬂ'of-n,wﬂige ? T 'j
(A) 5 '
(B) 4
Q2
(D) 3

1F

133. Simplify : o
i et
(B) 2/s
(C) 314
(D) 143

134, 1y the curr, i B :
T

i Of ages after 5 }"Eﬂrs?m 36, what ill
(A) 37:13 iy
(B) 38: 12 @/
(C) 35: 15
(D) 59;—:%::: 1
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138. Inacertaincode language PREMONITION 141
being coded as 06853049290 you will write
MONITOR as:

(A) 3059205

« Out of the two bar graphs provided below,
one shows the amount (in Lakh Rs.) invested by a
C Ompany in purchasing raw materials over the
Years and the other shows the values (in Lakh Rs.)

(B) 3042900 of finished goods sold by the Company over the
_AET 3049203 years.
(D) 3049208 Amount invested in Raw Materials (Rs. in Lakhs)
B0 - —e —— e
545
. 420
450 =
_'é 375
g I IE
w 205
=
X0
150 .
| I |
1905 1556 1957 1958 1595 Hm
Years

Value of Sales of Finished Goods (Rs. in Lakhs)

500 r

Direction: Suppose the following words ,
Man, Men, Machine, Method, Methodical. Make. : = . i

. 60D
Mentor, Map ;; o
are arranged according to dictionary rule. E o =
139. Which of them will be at the end? <
(A) Men =
{B) Method
/e? Methodical - g 1357 1958 ; L"'lﬂ'i_ :.nm_
(D) Mentor Yeay
The value of sales of finished goods in 1999 was
i approximately what percent of the sum of amount
invested in Raw materials in the years 1997, 1998
and 19997
(A) 33%
(B) 37%
(C) 45%
(D) 49%
140. What is the smallest number which when
decreased by 8 is divisible by|21, 27, 33 and 5
(A) 1490
(B) 10405
(C), 15490 7
%) None of the above \ 9' 8
Please Turn Over




ABC(C)-10/20

142. The following pie-chart gives the
distribution of the overseas tourist traffic from

India.

What percentage of Indian tourist went to either
LISA or UK?

(A) 40%
(B) 50%
(C) 60%
(D) 70%

143. A box contains 15 marbles out of which 4
are white, 5 are red and 6 are blue. Three balls are
to be drawn at random from the bag. What is the
probability that all of them are red?

(A) 122
(B) 2/89
(C) 2077
(D) 2/91

144. In a certain code language
1 2 3 means ‘sober nice lady®
/3; Lrmeans ‘nice sunny day*

Which of the follo
‘Sun_ny, .l.?-
(A) 3
B)5

B-20

sons increases
in place of one
he the weight

e weight of 8 per
rson cOomes
What might

145. The averag
by 2.5 kg when anew pe
of them weighing 6}5kg.
of the new person: .

=
(A) 76 kg 2
(B) 5Skg
85 kg
(D) None of the above

146. The difference between a two-digit lll.t[l:lb_ﬂl’
and the number obtained by interchanging the digits

is 36. What is the difference between the sum and

the difference of the digits of the number if the ratio
between the digits of the number is 1 : 2?

(A) 4
(B) 8

© 16

(D) None of the above




| L

148. A sum of Rs, 312 was divided among 100
boys and girls in such a way that each bay gets
Rs. 3.60 and éach girl Rs, 2.40. The numberof girls

15 =7 2 Ly
gott  uey AT AT
(A) 40 2,2
h P
(B) 45 et T

(Dy 30 .
70

JOr3s Mj}: . L)
=

149. A two-digit number is such that the product
of the digits is 8. When 18 is added to the number,
then the digits are reversed. The number is

(A) 18
(B) 24
(C) 42
(D) 81

150. How many numbers between 400 and 600
begin with or end with the digit 57

(A) 40
(B) 100
C)-110
(D) 120

SHOT ON REDMI 7
ATDUALCAN

152. A carisrunning first 5 Kilometersata speed
of 40 km./hr., next 20 kilometers at 60 km./hr. and
then another 30 kilometers at 30 km./hr. speed.
Then the average speed of the caris

(A) 5197 km./hr. e
{B) 50 km./hr.

(C) 52:3 km./hr.

(D) 30-6 km./hr.

153. A problem is given to three students whose
chances of solving it are 1/2, 1/3 and 14
respectively. What is the probability that the
problem will be solved?

(A) 174

(B) 112

(C) 34

(D) 712

154. In one hour, a boat goes 11 km along the
stream and 5 km against the stream. The speed of
the boat in still water (in km/hr) 15

/wfz
(B) 5

(C) 8
(D) 9

A tap can fill a bucket in 6 hours. After half
he-bucket is filled, three more similar taps are
ypened. What is the total time taken to fill the
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156. The following line graph gives the ratio of
the amounts of imports by a company Lo the
amount of exports from that company over the

period from 1995 to 2001.
Ratio of Value of Imports to Exports by a
Company Over the Years.

4 :
1758 1933 2000 2001

Years

1597

The imports were minimum proportionate
to the exports of the company in the year

(A) 1995

(B) 1996

(C) 1997

(D) 2000

SHOT ON REDMI 7
Al DUAL CAM

157. Out of the two bar 2raphs provided beloy,
one shows the amount (in LakhRs.) Invested by 4
Company in purchasing raw maten‘fﬂs over the
years and the other ShOWS the values (in Lakh Rs))
of finished goods sold by the Company over the

years.
Amount invested in Raw Materials (Rs. in Lakhs)

—_—

525

Rs. in Lokhs

1998 1989 00

1995 199 1997
Ymm i
Value of Sales of Finished Goods (Rs. in Lakhs)
| -
" s00 J|_ W
=
3
200
g 297 1998 1999, 000
Years :
The maximum difference bery ‘
- naximum difference between the amount

mwv 5 i
(A) 1995 2 the year
(B) 1996
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Direction: Study the following alphabetical
sequence and answer the question based on it,

G {GHYTKXKHGA@Y YDKKVR) Bf-: pDC

L
159. ff we drop all the vowels frém the above

series which letter will be in the middle positipn?
(A) K
BN
(C) B
(D) R

Direction: Study the following alphabetical
sequence and answer the question based on it.

GAGHUTAAKHGAOYYDKKVRABICDDC
RFFAHAHAIH

160. The difference between the number of
consonants and the number of vowels in the above
series 1s
(A) 10
13
() 17
(D)'25

161. Study the following table and answer the
question based on it:
Number of Candidates Appp.nreﬂ,.(lualiﬁed'and
Selected in a Competitive Examination &um
Five States Delhi, H.P, U.P, Punjab and

Haryana Over the Years

o HR. | UP. Punjab |  Haryana

App Sel | App. [Qual.|Sel | App. [Qual. | Sel App. [Qual|Sel |App. |Qual.|Sel
1997]5000| 50 | o4 | 7800| 810 | 82 | 7500 720 | 78 | 8200 "s80 | 85 [6400{ 700 {75
10984a00| 500 | 48 |7500| 800 | 65 |5500| 620 | 85 | 6800 800 |70 [7100) 650 |75
1982 7500] 540 | 82 | 7400 560 |70 |4800[ 400 | 48 | 6500 625 )5 |5200 350 | 55
2000]as00] 56 | 0 [ sa0o] 920 [ e [7000] ss0 [ 70 | ra 720 es 5400 540 |60
{2001]s00of soo {70 [7200] eso [7s [eso0]eso | 80 | 6700 a5 {60 [as00] 600 |75 |

~ For which state the _avéﬁ&ﬂ number of
the yea '_"'isthem&?ﬂmum?f

ABC(C)-10/20

162. The following pie-charts show the
distribution of students of graduate and post-
graduate levels in seven different institutes in a
tOWn.

Distribution of students at graduate and
post-graduate levels in seven institutes:

Total number of Students of
Graduate Level = 27300

Total number of Students of
Post-Graduate Level = 24700

What is the ratio between the number of students
studying at post-graduate and graduate levels
respectively from institute S?

(A) 14:19
(B) 19:21
(C) 17:21
(D) 19: 14



1
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163. What is the number of triangles in the

following figure? A

164. If words : language then line :
(A) mathematics
(B) figure
(C) algebra
(DY geometry

) Al DUAL CA}

£l
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ollowing chart shows the age
f overseas tourist from India.

n of Overseas Tourist Traffic
from India.

166. The f
distribution ©

Age Distributio

Which of the following statements is not TRUE?
(A) Elderly people aremestli.k:ly totravel
overseas.
(B) Elderly people are leastlikely to travel
overseas,
(C) Youngerpeopleare less likely totravel
overseas. '
India is middle aged (i.e. aged 40-49
years)
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168. If Dn&.lhird of one-fourth of anumberis 15 170. Study the following table and answer the
then three-tenth of that number 15 question:
(A) 35 51 ‘9' Number of Candidates Appeared and Qualified in a
36 - Competitive Examination from Different States
(C) 45 ’@ Over the Years.
(D) 54 F ik _ e
l 9 S Statd 1997 1998 1999 2000 2001
il '{"?‘ App. Qual.| App. | Qual.| App. |[Qual.| App.|Qual. |App. [Qual.
/ 3"*355 <a00] 720 | 8500 ] 980 | 7400] 850 [esm0] 775 Jos00[1125

2

7500 | gan | 9200 1050 | 8450 920 | 9200] 980 |BROO] 1020
6400 | T8O | BEOO| 1020 | 78001 890 | 8750[ 1010 9750 1250
g0l 950 | osoal 1210 | w700| 980 | G700] 1200 [8950] 995
7800 370 | 7600 | 940 | 98001350 | 76b0] 945 |7900| sES

.
\
11
=zlol=|z|z

Total number of candidates qualified from
all the states together in 1997 is approximately
what percentage of the total number of candidates
qualified from all the states together in 19987

(A) 72%
(B) 77%
(C) 80%
(D) 83%

171. Soldiers serve their country. There are four

. st R references. Choose the correct one.
169, Saudy the following table and answer the (A) Those who serve their country are
question: soldiers.

(B) Women do not serve their country as
they are not soldiers.

Yy M&ll ggngmlly serve ﬂ]eu' country

med ou of the letters of the
MS”, if repetition of letters is

SHOT ON REDMI 7
Al DUAL CAM
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Mrs. Basu live. in a house “’i}YW'E

ABC(C)-10/20 v
: . Mr.an
173, Sanket carns twice as much in the month of i hildren. They have three sons and eqgfy, ﬂf
March as in each of the other months of the }"f'*:I :::tfﬂ:ﬁ has exactly one ‘iIStBl‘ How many persong
‘:,':;n _m:?’ufhu. entire annual earnings was earne e i e House?
in Marc
A DO
(A) 17 : _{B; 7
(B) 16 _{ .3
{(C) 211 _{C]
(D) 213 ()2

178. Which number will oceupy thebj_ank o

? 9
7|16

174. Ifthe average of a, b, ¢ is 15, the average of S
b.c.dis12 "‘“d'-hﬂawr&geafﬂ dis 13, the value |4 7| D
of d is . 38

(A) 34 45

(B) 30; zé

(C) 24 C

(D) 10 &T—'—- 1,6 \2,.6 y (D) :

1?5 m%nmhnmdaapmﬁwark.

179 SIMY the ftﬂ]ﬁmn data carefallv U
answe thﬁfa]lﬁwlng+ ERERE. MHY e
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180. The difference between atwo-digit number
and the number obtained by interchanging the
positions of its digits 1s 36. What is the difference
between the two digits of that number?

(A) 3
(B) 4
(C) 9
(D) Cannot be determined

181. At 3 pm the minute hand of a wall clock,
placed normally on the wall, points to the West. In
which direction the hour hand will point at 9 am?

(A) East
(B) West - L_
(C) South e

}D-)'ﬁenh

182. If [43] = [4+0:5] = 4, then [~ 4:5] will be
(A) —4
(B) 4
(€) 5 J
(D) -5 e

SHOT ON REDM!I 7
Al DUAL CA|
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185. The bar graph given below shows the sales
of books (in thousand number) from six branches
of a publishing company during two consecutive
years 2000 and 2001.

Sales of Books (in thousand numbers) from

Six Branches- B1, B2, B3, B4, BS and B6 of

a publishing company in 2000 and 2001.

Sales (in thousand numbers)

Branches | 2000 E 2001

Total sales of branch B6 for both the years is.what
percent of the total sales of branches B3 for both
the years?

®) 7TL11% e

¥ 73.17% e

(E) 75.55% -@
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araphs prm'ided helow.

Lakh Rs.) invested by @
;\m' materials m'cr.lllc
values (in [Lakh Rs.)
iny over the

187. Oul of the two h;_lr
one shows the amount (m :
Company i purchasing

~the
years and the Of her show \-HI b
i finished goods sold by the

VEUrs. " N wials
. Amount invested in Raw Ms:iu'llll
(Rs. in Lakhs) _
53] ¥
AN

= = i a
'§ 330 .
- : ll .
= o l ) )| o L

e 0 .

- 1At o L85k = 197 195E - 1998 2000
Years

vV alue of sales of Finished Goods (Rs. in Lakhs)

B
i

Years

What was the difference between the
average amount invested in Raw materials during
the given period and the average value of sales of
finished goods during this period? B

(A) Rs.62.5 lakhs

Rs. 68.5 lakhs

(C) Rs. 715 lakhs

(D) Rs. 77.5 lakhs

, ine line graph give

The following $ the rgy;
i ants of imports by a Company 1, “f
the 4010 exports from that company oy, u&
A from 1995 to 2001 T the.

¢ Value of Imports to Exportg
Company Over the Years,

]'ICI'iUd
Ratio @ l:iy_lq

[f the imports in 1998 was Rs. 250 ¢rorec
and the total exports in the years 1998 o 19%
together was Rs.500 crores, then the ‘mportam
1999 was s

(A) Rs. 250 crores

(B) Rs. 300 crores

(C) Rs. 357 crores

(D) Rs. 420 crores

0, v A

AN

A




191, The bar graph given below shows the sales
of books (in thousand number) from six branches
of a publishing company during two consecutive
years 2000 and 2001.

Sales of Books (in thousand numbers) from

Six Branches- B1, B2, B3, B4, B5 and B6 of

a publishing company in 2000 and 2001.

7 —_—
110 105

g

Safes (in thousand numbers
=J
=
|

Branches 2000 ® 2001

What is the ratio of the total sales of branch B2 for
both years to the total sales of branch B4 for both
years?
(A) 2:3
(B} 35
() 4:5
) 7:9

SHOT ON REDMI 7
Al DUAL CA
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192. The following pie-chart shows the
percentage distribution of the expenditure incurred
in publishing a book. Study the pie-chart and the
answer the questions based on it.

Various Expenditures (in percentage)
Incurred in Publishing a Book

Promotion

cost _-\\

10%

Transportation
Cost

Printing cost 108%
20%

Paper cost
25%

If for a certain quantity of books, the publisher has
to pay Rs. 30,600 as printing cost, then what will be
the amount of royalty to be paid for these books?
(A) Rs. 19,450
(B) Rs. 21,200

/(C}“‘Rs. 22.950

193. The ratio of the no. of white balls inabag to
that of black ballsis 1 : 2. If 9 grey balls are added
the ratio of nos. of white, black and grey becomes

~ 2:4:3. How many black balls were in the bag?

of 20% in the price of
e purchase 12 more
price of 16 strawberries

Please Turn Over
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vegetable :: wheal

195- ncp 15 the LUI'TEC[

Which one of the followi
pair”
(A) plant, cake
(B) harley, tflour
(@) cabbage, corn
2 .(D'l leaves. rice

196. Which of the following words can be
formed using only the letters of the word
"PSCEXAMINATION"? (When framing a word
You can use any letter at most the number of time/

times it appears in-the above word.)
hcms/m;cs

(B) MOTHER
(€) MSCEXAMINATION
(D) STEPIN

B-30

198. The digit in unit’s place of o)
8] x 82 x ... x 89 is € Pro
90
(B) 2 iy
(C) 6 1,1
(D) 8
(D) L

Direction: Study the followi
sequence and answer the (
GAGHUTAAKHGA.Y_
RFFAHAHAIH '
199. Thesum of the numb .
the number of vowels in the al
(A) 35

SHOT ON RE™
Al DUAL CAM
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